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These notes are not endorsed by the lecturers, and I have modified them (often
significantly) after lectures. They are nowhere near accurate representations of what
was actually lectured, and in particular, all errors are almost surely mine.

Limits and convergence

Sequences and series in R and C. Sums, products and quotients. Absolute convergence;
absolute convergence implies convergence. The Bolzano-Weierstrass theorem and
applications (the General Principle of Convergence). Comparison and ratio tests,
alternating series test. [6]

Continuity

Continuity of real- and complex-valued functions defined on subsets of R and C. The
intermediate value theorem. A continuous function on a closed bounded interval is
bounded and attains its bounds. 3]

Differentiability

Differentiability of functions from R to R. Derivative of sums and products. The chain
rule. Derivative of the inverse function. Rolle’s theorem; the mean value theorem.
One-dimensional version of the inverse function theorem. Taylor’s theorem from R to
R; Lagrange’s form of the remainder. Complex differentiation. (5]

Power series

Complex power series and radius of convergence. Exponential, trigonometric and
hyperbolic functions, and relations between them. *Direct proof of the differentiability
of a power series within its circle of convergence*. [4]

Integration

Definition and basic properties of the Riemann integral. A non-integrable function.
Integrability of monotonic functions. Integrability of piecewise-continuous functions.
The fundamental theorem of calculus. Differentiation of indefinite integrals. Integration
by parts. The integral form of the remainder in Taylor’s theorem. Improper integrals. [6]
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0 Introduction

In TA Differential Equations, we studied calculus in a non-rigorous setting. While
we did define differentiation (properly) as a limit, we did not define what a limit
was. We didn’t even have a proper definition of integral, and just mumbled
something about it being an infinite sum.

In Analysis, one of our main goals is to put calculus on a rigorous foundation.
We will provide unambiguous definitions of what it means to take a limit, a
derivative and an integral. Based on these definitions, we will prove the results
we've had such as the product rule, quotient rule and chain rule. We will also
rigorously prove the fundamental theorem of calculus, which states that the
integral is the inverse operation to the derivative.

However, this is not all Analysis is about. We will study all sorts of limiting
(“infinite”) processes. We can see integration as an infinite sum, and differen-
tiation as dividing two infinitesimal quantities. In Analysis, we will also study
infinite series such as 1+ i + % + 1—16 + .-+, as well as limits of infinite sequences.

Another important concept in Analysis is continuous functions. In some
sense, continuous functions are functions that preserve limit processes. While
their role in this course is just being “nice” functions to work with, they will be
given great importance when we study metric and topological spaces.

This course is continued in IB Analysis IT, where we study uniform convergence
(a stronger condition for convergence), calculus of multiple variables and metric
spaces.
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1 The real number system

We are all familiar with real numbers — they are “decimals” consisting of
infinitely many digits. When we really want to study real numbers, while this
definition is technically valid, it is not a convenient definition to work with.
Instead, we take an aziomatic approach. We define the real numbers to be a set
that satisfies certain properties, and, if we really want to, show that the decimals
satisfy these properties. In particular, we define real numbers to be an ordered
field with the least upper bound property.

We’ll now define what it means to be an “ordered field with the least upper
bound property”.

Definition (Field). A field is a set F with two binary operations + and x that
satisfies all the familiar properties satisfied by addition and multiplication in Q,
namely

@

(Va,b,c)a+ (b+¢) = (a+b)+cand ax (bxc) = (axb)xc (associativity)

)
(ii) (Va,b)a+b=b+aandaxb=>bxa (commutativity)
(iii) 30,1 such that (Va)a+0=aandax1=a (identity)
(iv) Va3(—a) such that a+(—a) = 0. If a # 0, then Ja~! such that axa™1 = 1.
(inverses)
(v) (Va,b,c)ax (b+¢)=(axb)+ (axc) (distributivity)

Example. Q,R,C, integers mod p, {a + bv/2 : a,b € Z} are all fields.

Definition (Totally ordered set). An (totally) ordered set is a set X with a
relation < that satisfies

(i) fz,y,z€ X,z <yand y < z, then z < z (transitivity)
(ii) If z,y € X, exactly one of < y,x = y,y < z holds (trichotomy)

We call it a totally ordered set, as opposed to simply an ordered set, when
we want to emphasize the order is total, i.e. every pair of elements are related to
each other, as opposed to a partial order, where “exactly one” in trichotomy is
replaced with “at most one”.

Now to define an ordered field, we don’t simply ask for a field with an order.
The order has to interact nicely with the field operations.

Definition (Ordered field). An ordered field is a field F with a relation < that
makes [F into an ordered set such that

(i) ifx,y,z€Fand z <y, thenz+z<y+z
(ii) if z,y,z € F, z <y and z > 0, then zz < yz
Lemma. Let F be an ordered field and # € F. Then 22 > 0

Proof. By trichotomy, either 2 < 0, z =0 or z > 0. If z = 0, then 2?> = 0. So
22>0. Ifx>0,then 22 >0x2=0. Ifz <0, thenz —2 <0—2. So 0 < —z.
But then 22 = (—z)% > 0. O
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Definition (Least upper bound). Let X be an ordered set and let A C X. An
upper bound for A is an element x € X such that (Va € A)a < z. If A has an
upper bound, then we say that A is bounded above.

An upper bound z for A is a least upper bound or supremum if nothing
smaller that z is an upper bound. That is, we need

(i) Vae€eAd)a<cz
(i) (Vy<z)FaeAa>y

We usually write sup A for the supremum of A when it exists. If sup A € A,
then we call it max A, the maximum of A.

Example. Let X = Q. Then the supremum of (0,1) is 1. The set {z : 2% < 2}
is bounded above by 2, but has no supremum (even though V2 seems like a
supremum, we are in Q and /2 is non-existent!).

max[0,1] = 1 but (0,1) has no maximum because the supremum is not in
(0,1).

We can think of the supremum as a point we can get arbitrarily close to in
the set but cannot pass through.

Definition (Least upper bound property). An ordered set X has the least upper
bound property if every non-empty subset of X that is bounded above has a
supremum.

Obvious modifications give rise to definitions of lower bound, greatest lower
bound (or infimum) etc. It is simple to check that an ordered field with the least
upper bound property has the greatest lower bound property.

Definition (Real numbers). The real numbers is an ordered field with the least
upper bound property.

Of course, it is very important to show that such a thing exists, or else we
will be studying nothing. It is also nice to show that such a field is unique (up
to isomorphism). However, we will not prove these in the course.

In a field, we can define the “natural numbers” tobe2=1+1,3=1+2
etc. Then an important property of the real numbers is

Lemma (Archimedean property v1)). Let F be an ordered field with the least
upper bound property. Then the set {1,2,3,---} is not bounded above.

Proof. 1If it is bounded above, then it has a supremum x. But then x — 1 is not
an upper bound. So we can find n € {1,2,3,---} such that n > z — 1. But then
n+ 1> x, but x is supposed to be an upper bound. O

Is the least upper bound property required to prove the Archimedean prop-
erty? It seems like any ordered field should satisfy this even if they do not have
the least upper bound property. However, it turns out there are ordered fields in
which the integers are bounded above.

Consider the field of rational functions, i.e. functions in the form ggﬁ; with

P(z), Q(x) being polynomials, under the usual addition and multiplication. We

order two functions %, }S?’((;; as follows: these two functions intersect only

finitely many times because P(z)S(x) = R(z)Q(z) has only finitely many roots.
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After the last intersection, the function whose value is greater counts as the
greater function. It can be checked that these form an ordered field.

In this field, the integers are the constant functions 1,2,3,---, but it is
bounded above since the function x is greater than all of them.
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2 Convergence of sequences

Having defined real numbers, the first thing we will study is sequences. We
will want to study what it means for a sequence to converge. Intuitively, we
would like to say that 1, %, %, %, -+ converges to 0, while 1,2,3,4,--- diverges.
However, the actual formal definition of convergence is rather hard to get right,
and historically there have been failed attempts that produced spurious results.

2.1 Definitions

Definition (Sequence). A sequence is, formally, a function a : N = R (or C).
Usually (i.e. always), we write a,, instead of a(n). Instead of a, we usually write
it as (an), (an)$° or (a,)S2; to indicate it is a sequence.

Definition (Convergence of sequence). Let (a,) be a sequence and ¢ € R. Then
an converges to £, tends to £, or a, — £ , if for all € > 0, there is some N € N
such that whenever n > N, we have |a,, — ¢| < £. In symbols, this says

(Ve > 0)(IN)(Vn > N) |a, — ] < e.
We say ¢ is the limit of (a,).

One can think of (AN)(Vn > N) as saying “eventually always”, or as “from
some point on”. So the definition means, if a,, — ¢, then given any ¢, there
eventually, everything in the sequence is within ¢ of £.

We’ll now provide an alternative form of the Archimedean property. This is
the form that is actually useful.

Lemma (Archimedean property v2). 1/n — 0.

Proof. Let ¢ > 0. We want to find an N such that |[1/N —0| = 1/N < e. So pick
N such that N > 1/e. There exists such an N by the Archimedean property v1.
Then for all n > N, we have 0 < 1/n < 1/N <e. So |1/n—0| < e. O

Note that the red parts correspond to the definition of convergence of a
sequence. This is generally how we prove convergence from first principles.

Definition (Bounded sequence). A sequence (a,) is bounded if
(3C)(Vn) |an| < C.
A sequence is eventually bounded if
(3C)(3N)(¥n > N) |an| < C.

The definition of an eventually bounded sequence seems a bit daft. Clearly
every eventually bounded sequence is bounded! Indeed it is:

Lemma. Every eventually bounded sequence is bounded.

Proof. Let C and N be such that (Vn > N)|a,| < C. Then Vn € N, |a,| <
max{|ai|, - ,|an-1],C}. O

The proof is rather trivial. However, most of the time it is simpler to prove
that a sequence is eventually bounded, and this lemma saves us from writing
that long line every time.
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2.2 Sums, products and quotients

Here we prove the things that we think are obviously true, e.g. sums and products
of convergent sequences are convergent.

Lemma (Sums of sequences). If a, — a and b,, — b, then a,, + b,, = a +b.

Proof. Let ¢ > 0. We want to find a clever N such that for all n > N,
lan, + b, — (a +b)| < e. Intuitively, we know that a,, is very close to a and by, is
very close to b. So their sum must be very close to a + b.

Formally, since a,, — a and b, — b, we can find N7, Ny such that Vn > Ny,
lan, —al < e/2 and ¥n > Na, |b, — b < e/2.

Now let N = max{Nj, Na}. Then by the triangle inequality, when n > N,

[(an +byn) — (a+b)| < |an —a| + b —b| <e. O

We want to prove that the product of convergent sequences is convergent.
However, we will not do it in one go. Instead, we separate it into many smaller
parts.

Lemma (Scalar multiplication of sequences). Let a,, — a and A € R. Then
Aa, — Aa.

Proof. If A = 0, then the result is trivial.
Otherwise, let € > 0. Then 3N such that ¥n > N, |a, — a| < ¢/|A]. So
I\ay — Aa| < e O

Lemma. Let (a,) be bounded and b,, — 0. Then a,b, — 0.

Proof. Let C # 0 be such that (Vn) |a,| < C. Let € > 0. Then 3N such that
(Vn > N)|b,| < e/C. Then |apb,| < ¢. O

Lemma. Every convergent sequence is bounded.

Proof. Let a,, — . Then there is an N such that ¥n > N, |a, — 1] < 1. So
lan| < |I] + 1. So a, is eventually bounded, and therefore bounded. O

Lemma (Product of sequences). Let a, — a and b,, — b. Then a,b,, — ab.

Proof. Let a, = a + &,. Then a,b, = (a + €,)b,, = ab,, + €,by,.
Since b,, — b, ab,, — ab. Since &, — 0 and b,, is bounded, ¢,b, — 0. So
anb, — ab. O

Proof. (alternative) Observe that a,b,—ab = (an—a)b,+(b,—b)a. We know that
an —a — 0 and b, —b — 0. Since (b,) is bounded, so (a, — a)b, + (b, —b)a — 0.
So anb, — ab. O

Note that in this proof, we no longer write “Let € > 0”. In the beginning, we
have no lemmas proven. So we must prove everything from first principles and
use the definition. However, after we have proven the lemmas, we can simply
use them instead of using first principles. This is similar to in calculus, where
we use first principles to prove the product rule and chain rule, then no longer
use first principles afterwards.

Lemma (Quotient of sequences). Let (a,) be a sequence such that (Vn)ay # 0.
Suppose that a,, — a and a # 0. Then 1/a,, — 1/a.
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Proof. We have
1 1 a—any

an G aay,

We want to show that this — 0. Since a — a,, — 0, we have to show that 1/(aa,)
is bounded.

Since a,, — a, 3N such that Vn > N, |a, — a| < a/2. Then Vn > N, |a,| >
la|/2. Then [1/(ana)| < 2/|al?. So 1/(aya) is bounded. So (a — a,)/(aa,) — 0
and the result follows. O

Corollary. If a, — a,b, — b, b,,b# 0, then a, /b, = a/b.
Proof. We know that 1/b, — 1/b. So the result follows by the product rule. [

Lemma (Sandwich rule). Let (a,) and (b,) be sequences that both converge to
a limit x. Suppose that a,, < ¢, < b, for every n. Then ¢, — z.

Proof. Let € > 0. We can find N such that Vn > N, |a, —z| < € and |b, —2| < €.
Then Vn > N, we have z — e < a, < ¢, <b, <z +e. Solc, —z|<e. O

Example. 1/2" — 0. For every n, n < 2". So 0 < 1/2" < 1/n. The result
follows from the sandwich rule.

Example. We want to show that

o431
n+5)(2n—-1) 2

We can obtain this by
n?+3 1+3/n? 1

mi5)@n-1) (115/m2—1/n) 2’

by sum rule, sandwich rule, Archimedean property, product rule and quotient
rule.

Example. Let k£ € N and let § > 0. Then

nk

—— — 0.
(140)n
This can be summarized as “exponential growth beats polynomial growth even-
tually”.
By the binomial theorem,

n
1+6)" > ST,
(1+9) _<k:+1>

Also, for n > 2k,

n\ _ nn-1--(n—k) _ (n/2)*!
<k+1>_ (k+1)! = (k+1)!°

So for sufficiently large n,

nk nF2F L (k+ 1)1 2P (k4 1)1 1

(140) = npktighti Sk+1 T 0.
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2.3 Monotone-sequences property

Recall that we characterized the least upper bound property. It turns out that
there is an alternative characterization of real number using sequences, known
as the monotone-sequences property. In this section, we will show that the two
characterizations are equivalent, and use the monotone-sequences property to
deduce some useful results.

Definition (Monotone sequence). A sequence (a,) is increasing if a, < an41
for all n.

Tt is strictly increasing if a, < ansq for all n. (Strictly) decreasing sequences
are defined analogously.

A sequence is (strictly) monotone if it is (strictly) increasing or (strictly)
decreasing.

Definition (Monotone-sequences property). An ordered field has the monotone
sequences property if every increasing sequence that is bounded above converges.

We want to show that the monotone sequences property is equivalent to the
least upper bound property.

Lemma. Least upper bound property = monotone-sequences property.

Proof. Let (ay) be an increasing sequence and let C' an upper bound for (a,).
Then C is an upper bound for the set {a, : n € N}. By the least upper bound
property, it has a supremum s. We want to show that this is the limit of (a,,).

Let € > 0. Since s = sup{a,, : n € N}, there exists an N such that ay > s—e.
Then since (a,) is increasing, Yn > N, we have s —¢ < ay < a, < s. So
lan, — s| < e. O

We first prove a handy lemma.

Lemma. Let (a,) be a sequence and suppose that a,, — a. If (Vn) a,, < x, then
a <.

Proof. If a > x, then set ¢ = a — 2. Then we can find N such that ay > =z.
Contradiction. O

Before showing the other way implication, we will need the following:
Lemma. Monotone-sequences property = Archimedean property.

Proof. We prove version 2, i.e. that 1/n — 0.

Since 1/n > 0 and is decreasing, by MSP, it converges. Let ¢ be the limit.
By the previous lemma, we must have § > 0.

If 6 > 0, then we can find N such that 1/N < 2§. But then for all n > 4N,
we have 1/n < 1/(4N) < 6/2. Contradiction. Therefore § = 0. O

Lemma. Monotone-sequences property = least upper bound property.

Proof. Let A be a non-empty set that’s bounded above. Pick ug,vg such that
ug is not an upper bound for A and vg is an upper bound. Now do a repeated
bisection: having chosen u,, and v,, such that wu,, is not an upper bound and v,
is, if (up, + v,,)/2 is an upper bound, then let up41 = Up, Vpt1 = (Up + vy)/2.
Otherwise, let uy11 = (Uup + Un)/2, Upni1 = Up.

10
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Then ug < up <ug <--- and vg > v; > vy > ---. We also have

_ g — Ug
Vp — Uy = on 0.

By the monotone sequences property, u, — s (since (u, ) is bounded above by
vg). Since vy, — u, — 0, v, — s. We now show that s = sup A.

If s is not an upper bound, then there exists a € A such that a > s. Since
v, — S, then there exists m such that v, < a, contradicting the fact that v, is
an upper bound.

To show it is the least upper bound, let ¢ < s. Then since u,, — s, we can
find m such that u,, > t. So t is not an upper bound. Therefore s is the least
upper bound. O

Why do we need to prove the Archimedean property first? In the proof above,
we secretly used the it. When showing that v,, — u,, — 0, we required the fact
that 2% — 0. To prove this, we sandwiched it with % But to show % — 0, we
need the Archimedean property.

Lemma. A sequence can have at most 1 limit.

Proof. Let (a,) be a sequence, and suppose a, — « and a, — y. Let € > 0
and pick N such that Vn > N, |a, — x| < ¢€/2 and |a, — y| < €/2. Then
|z —y| < |z —an|+|av —y| < e/2+4¢/2 = . Since € was arbitrary, 2 must
equal y. O

Lemma (Nested intervals property). Let IF be an ordered field with the monotone
sequences property. Let Iy DO Is O --- be closed bounded non-empty intervals.
Then (N, I, # 0.

Proof. Let T,, = [an,by,] for each n. Then a1 < ag < -+ and by > by > ---.
For each n, a, < b, < b;. So the sequence a,, is bounded above. So by the
monotone sequences property, it has a limit a. For each n, we must have a,, < a.
Otherwise, say a, > a. Then for all m > n, we have a,, > a,, > a. This implies
that a > a, which is nonsense.

Also, for each fixed n, we have that Ym > n, a,, < b,, < b,. So a < b,.
Thus, for all n, a, <a <b,. Soa€ I, Soac (N, In. O

We can use this to prove that the reals are uncountable:
Proposition. R is uncountable.

Proof. Suppose the contrary. Let x1,x2, -+ be a list of all real numbers. Find
an interval that does not contain xy. Within that interval, find an interval that
does not contain x,. Continue ad infinitum. Then the intersection of all these
intervals is non-empty, but the elements in the intersection are not in the list.
Contradiction. O

A powerful consequence of this is the Bolzano- Weierstrass theorem. This is
formulated in terms of subsequences:

Definition (Subsequence). Let (a,) be a sequence. A subsequence of (a,) is a
sequence of the form a,,,an,, -+, where n; <ng <---.

Example. 1,1/4,1/9,1/16,--- is a subsequence of 1,1/2,1/3,---.

11
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Theorem (Bolzano-Weierstrass theorem). Let F be an ordered field with the
monotone sequences property (i.e. F = R).
Then every bounded sequence has a convergent subsequence.

Proof. Let up and vy be a lower and upper bound, respectively, for a sequence
(an). By repeated bisection, we can find a sequence of intervals [ug, vg] 2
[ug,v1] D [ug,vs] D «-- such that v, — u, = (vo — up)/2", and such that each
[tn, vy] contains infinitely many terms of (a,).

By the nested intervals property, (\~,[u,,v,] # 0. Let 2 belong to the
intersection. Now pick a subsequence ay,, Gn,, -+ such that a,, € [ug,vg]. We
can do this because [ug, vx]| contains infinitely many a,,, and we have only picked
finitely many of them. We will show that a,, — «.

Let € > 0. By the Archimedean property, we can find K such that vg —ux =
(vo —ug)/2% < e. This implies that [ux,vk]| C (z —¢&, 2z +¢), since z € [ug,vk].

Then Vk > K, an, € [ug,vr] C [uk,vik] C (x—¢e,z+¢). So |an, —z| <e. O

2.4 Cauchy sequences

The third characterization of real numbers is in terms of Cauchy sequences.
Cauchy convergence is an alternative way of defining convergent sequences
without needing to mention the actual limit of the sequence. This allows us to
say {3,3.1,3.14,3.141,3.1415, - - - } is Cauchy convergent in Q even though the
limit 7 is not in Q.

Definition (Cauchy sequence). A sequence (a,) is Cauchy if for all €, there is
some N € N such that whenever p,q > N, we have |a, — a4| < €. In symbols,
we have

(Ve > 0)(AN)(¥p,q¢ > N) |ap — aq| < €.

Roughly, a sequence is Cauchy if all terms are eventually close to each other
(as opposed to close to a limit).

Lemma. Every convergent sequence is Cauchy.

Proof. Let a, — a. Let € > 0. Then 3N such that ¥n > N, |a, — a|] < &/2.
Then Vp,q > N, lap —aq| < lap —a| +]a—a4| <e/2+¢/2=¢. O

Lemma. Let (a,) be a Cauchy sequence with a subsequence (an, ) that converges
to a. Then a,, — a.

Proof. Let € > 0. Pick N such that Vp,q > N, |a, — a4| < £/2. Then pick K
such that ng > N and |an, —a| < ¢e/2.

Then Vn > N, we have
5

218.

g
|CLn*a|S|an*ank|+‘anlr<*a|<§+

O

An important result we have is that in R, Cauchy convergence and regular
convergence are equivalent.

Theorem (The general principle of convergence). Let F be an ordered field with
the monotone-sequence property. Then every Cauchy sequence of F converges.

12
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Proof. Let (a,) be a Cauchy sequence. Then it is eventually bounded, since 3N,
Vn > N, |a, —ay| < 1 by the Cauchy condition. So it is bounded. Hence by
Bolzano-Weierstrass, it has a convergent subsequence. Then (a,,) converges to
the same limit. O

Definition (Complete ordered field). An ordered field in which every Cauchy
sequence converges is called complete.

Hence we say that R is a complete ordered field.

However, not every complete ordered field is (isomorphic to) R. For example,
we can take the rational functions as before, then take the Cauchy completion
of it (i.e. add all the limits we need). Then it is already too large to be the reals
(it still doesn’t have the Archimedean property) but is a complete ordered field.

To show that completeness implies the monotone-sequences property, we
need an additional condition: the Archimedean property.

Lemma. Let F be an ordered field with the Archimedean property such that
every Cauchy sequence converges. The F satisfies the monotone-sequences

property.

Proof. Instead of showing that every bounded monotone sequence converges, and
is hence Cauchy, We will show the equivalent statement that every increasing
non-Cauchy sequence is not bounded above.

Let (a,,) be an increasing sequence. If (a,) is not Cauchy, then

(Fe > 0)(VN)(Ip,q > N) |ap — aq| > €.

wlog let p > ¢q. Then
ap > aq+¢€ 2> an +e.

So for any N, we can find a p > N such that
ap > ay + €.
Then we can construct a subsequence ay,, , n,, -+ such that
Opjypy = Qny T E-

Therefore
Upy > G, + (kK — 1)e.

So by the Archimedean property, (an, ), and hence (a,), is unbounded. O
Note that the definition of a convergent sequence is
(3)(Ve > 0)(IN)(Vn > N) |a, — | < &,
while that of Cauchy convergence is
(Ve > 0)(3N)(Vp, g > N) |ap, — aq| < €.

In the first definition, I quantifies over all real numbers, which is uncountable.
However, in the second definition, we only have to quantify over natural numbers,
which is countable (by the Archimedean property, we only have to consider the
cases € = 1/n).

Since they are equivalent in R, the second definition is sometimes preferred
when we care about logical simplicity.

13



2 Convergence of sequences TA Analysis I

2.5 Limit supremum and infimum

Here we will define the limit supremum and infimum. While these are technically
not part of the course, eventually some lecturers will magically assume students
know this definition. So we might as well learn it here.

Definition (Limit supremum/infimum). Let (a,) be a bounded sequence. We
define the limit supremum as

limsupa, = lim (sup am> .

n—00 n=00 \m>n

To see that this exists, set b, = sup,,,>,, am- Then (b,) is decreasing since we
are taking the supremum of fewer and fewer things, and is bounded below by
any lower bound for (a,) since b, > a,. So it converges.

Similarly, we define the limit infimum as

liminfa, = lim (inf am) .

n—00 n—oo \ m>n

Example. Take the sequence

Then the limit supremum is 1 and the limit infimum is 0.
Lemma. Let (a,) be a sequence. The following two statements are equivalent:
- ap —a
— limsup a,, = liminf a,, = a.
Proof. If a,, — a, then let € > 0. Then we can find an n such that
a—e<a,<a+teforallm>n
It follows that

a—e¢ < inf a,, < sup a,, <a-+e.
m> m>n

Since € was arbitrary, it follows that
liminf a,, = limsup a,, = a.

Conversely, if liminf a,, = limsupa,, = a, then let € > 0. Then we can find n
such that

inf a,, >a—¢ and sup a,, < a+e.
m2n m>n

It follows that Vm > n, we have |a,, — a| < €. O

14



8 Convergence of infinite sums TA Analysis I

3 Convergence of infinite sums

In this chapter, we investigate which infinite sums, as opposed to sequences,
converge. We would like to say 1+%—|—i—|—§+-~- =2, while14+14+14+14---
does not converge. The majority of the chapter is coming up with different tests
to figure out if infinite sums converge.

3.1 Infinite sums

Definition (Convergence of infinite sums and partial sums). Let (a,) be a real
sequence. For each N, define

N
SNZ E Qnp.
n=1

If the sequence (Sx) converges to some limit s, then we say that

o0
E ap = 8,
n=1

o0

and we say that the series Z apn CONverges.

n=1
We call Sy the Nth partial sum.

There is an immediate necessary condition for a series to converge.
(o]
Lemma. If E a, converges. Then a, — 0.

n=1

Proof. Let Zan =s. Then S,, - sand S,,_1 —s. Thena, =5, —S,_1 —
n=1

0. O
However, the converse is false!

Example (Harmonic series). If a, = 1/n, then a,, — 0 but > a,, = oco.
We can prove this as follows:

1 on—l 1
4+ — > = —.

Son — Sy = ———
2 2N T el 1 on = on 3

Therefore Son > S7 +n/2. So the partial sums are unbounded.
Example (Geometric series). Let |p| < 1. Then

> 1

We can prove this by considering the partial sums:

iv: n 1- pN+1
p =7
n=0 1- p

Since p¥N 1 — 0, this tends to 1/(1 — p).

15



8 Convergence of infinite sums TA Analysis I

E le. . This is si
xample 2;2 o p— converges. This is since
111
nn—1) n-1 n
So v
1 1
P B
— n(n—1) N

Lemma. Suppose that a,, > 0 for every n and the partial sums 5,, are bounded
above. Then Y 7 | a, converges.

Proof. The sequence (.S,,) is increasing and bounded above. So the result follows
form the monotone sequences property. O]

The simplest convergence test we have is the comparison test. Roughly
speaking, it says that if 0 < a,, < b, for all n and > b, converges, then > a,
converges. However, we will prove a much more general form here for convenience.

Lemma (Comparison test). Let (a,) and (b,) be non-negative sequences, and
suppose that 3C, N such that Vn > N, a,, < Cb,,. Then if }_ b,, converges, then
so does > ay,.

Proof. Let M > N. Also for each R, let Sp = 25:1 an, and Tr = Zle b,. We
want Sg to be bounded above.

M M 0
Su—Sv= Y a,<C > b <C Y by

n=N+1 n=N+1 n=N+1

SoVM > N, Sy < S, + CZ'ZO:N+1 b,. Since the Sj; are increasing and
bounded, it must converge. O

Example.
(i) 3 -1+ converges, since Y 5= converges.

(ii) > g% converges.

If n > 4, then n < 27/2  That’s because 4 = 242 and for n > 4,
(n+1)/n< V2, so when we increase n, we multiply the right side by a
greater number by the left. Hence by the comparison test, it is sufficient
to show that 3" 27/2/2" = 3" 27"/2 converges, which it does (geometric
series).

(iii) > ﬁ diverges, since ﬁ > 1. So if it converged, then so would Y~ L, but
> L diverges.

1

: 1 - 1
(iv) > -z converges, since for n > 2, —5 < ey E

the latter converges.

and we have proven that

16



8 Convergence of infinite sums TA Analysis I

- 5
(v) Consider Z #2/2 We show this converges by noting
n3 —7Tn

n=1

So if n > 8, then

Also, n+5 < 2n. So
— <
n3 —7Tn2/2 —
So it converges by the comparison test.

(vi) If @ > 1, then > 1/n® converges.
Let Sy = ZN 1/n®. Then

n=1
1 1
Son — Sgn-1 = m + -t (2m)e
on—1
= (2n—T)a
— (2n )i
— (2i-ayn—1

But 2!~ < 1. So
Sgn = (Szn - Sgn—l) + (Sgn—l - Sgn—2) + - (SQ - Sl) + Sl
and is bounded above by comparison with the geometric series 1 4+ 217 4
(21—04)2 R
3.2 Absolute convergence

Here we’ll consider two stronger conditions for convergence — absolute conver-
gence and unconditional convergence. We’ll prove that these two conditions are
in fact equivalent.

Definition (Absolute convergence). A series Y a, converges absolutely if the
series Y |a,| converges.

Shias

Example. The series ) ~—- =1- % + % — % + .-+ converges, but not
absolutely.
To see the convergence, note that
1 1 1

R T R T O
It is easy to compare with 1/n? to get that the partial sums So,, converges. But
Son+1 — Son = 1/(2n+ 1) — 0, so the Sy, 41 converges to the same limit.
It does not converge absolutely, because the sum of the absolute values is
the harmonic series.

17



8 Convergence of infinite sums TA Analysis I

Lemma. Let ) a, converge absolutely. Then Y a,, converges.

Proof. We know that > |a,| converges. Let Sy = Zﬁle an and Ty = 25:1 |an].
We know two ways to show random sequences converge, without knowing
what they converge to, namely monotone-sequences and Cauchy sequences. Since

S is not monotone, we shall try Cauchy sequences.

If p > g, then
p p
Sp — Sql = Z an| < Z |an| =T, — Tg.
n=q+1 n=q+1

But the sequence T}, converges. So Ve > 0, we can find IV such that for all
p>q > N, we have T, — T, < ¢, which implies |S, — S| < e. O

Definition (Unconditional convergence). A series Y a,, converges uncondition-
ally if the series > 7, ar(n) converges for every bijection 7 : N — N, i.e. no
matter how we re-order the elements of a,,, the sum still converges.

Theorem. If > a, converges absolutely, then it converges unconditionally.

Proof. Let S, = Zﬁ;l Ur(n)- Then if p > g,

p o)
|SP - Sq| = Z Qr(n) < Z |a7r(n)‘
n=q+1 n=qg+1

Let € > 0. Since ) |a,| converges, pick M such that Y 07/ |an| < e.
Pick N large enough that {1,--- , M} C {x(1),--- ,7(N)}.
Then if n > N, we have w(n) > M. Therefore if p > ¢ > N, then

P 00
|SP - Sq| < Z |a7r(n)| < Z |an| <e.
n=q+1 n=M-+1
Therefore the sequence of partial sums is Cauchy. O

The converse is also true.
Theorem. If ) a, converges unconditionally, then it converges absolutely.

Proof. We will prove the contrapositive: if it doesn’t converge absolutely, it
doesn’t converge unconditionally.

Suppose that Y |a,| = co. Let (b,) be the subsequence of non-negative
terms of a,, and (c,) be the subsequence of negative terms. Then > b, and
>~ ¢, cannot both converge, or else > |a,| converges.

wlog, > b, = co. Now construct a sequence 0 = ng < n; < ng < --- such
that Vk,

bnk,lJrl + bnk,1+2 +oF bnk +ep > 1,

This is possible because the b,, are unbounded and we can get it as large as we
want.
Let 7 be the rearrangement

b17b27' "bn17cl7bn1+17"'bn2502)bn2+17'"bn33637"'

So the sum up to ¢ is at least k. So the partial sums tend to infinity. O

18



8 Convergence of infinite sums TA Analysis I

We can prove an even stronger result:

Lemma. Let > a, be a series that converges absolutely. Then for any bijection

m:N—=N,
D an =) nn)-
n=1 n=1

Proof. Let € > 0. We know that both ) |a,| and }_ |ar()| converge. So let M
be such that >,/ lan| < §and D7 o3/ laxml < 5.
Now N be large enough such that

{15"' vM} c {71—(1)"" ’F(N>}’,

and
{W(l)v"' 77T(M)} - {17"' 7N}'

Then for every K > N,

K K K K c c
Z an — Z QAr(n) < Z |an| + Z |a7r(n)‘ < 5 + 5 =E&.
n=1 n=1 n=M+1 n=M+1

We have the first inequality since given our choice of M and N, the first M
terms of the > a, and 3 ar(n) sums are cancelled by some term in the huge
sum.
So VK > N, the partial sums up to K differ by at most €. So |>_ a, —

Z aﬂ(n)\ S g.
Since this is true for all €, we must have Y~ an = ) ar(y)- O

3.3 Convergence tests

We’ll now come up with a lot of convergence tests.

Lemma (Alternating sequence test). Let (a,) be a decreasing sequence of non-

o0
negative reals, and suppose that a,, — 0. Then Z(—l)"“an converges, i.e.
=1
a; —as +az — a4 + -+ - converges. "
N
Proof. Let Sy = Z(fl)"ﬂan. Then
n=1

Son = (a1 — a2) + (a3 — aq) + - -+ + (a2p—1 — a2,) > 0,

and (S2,,) is an increasing sequence.
Also,

S2n+1 =a — (Gz - a3) - (a4 - 05) - (azn - azn+1),

and (Sa,,41) is a decreasing sequence. Also Sa,41 — So, = agpy1 > 0.

Hence we obtain the bounds 0 < So,, < So,41 < a;. It follows from the
monotone sequences property that (Sa,) and (Sa,41) converge.

Since Sop41 — Son = a2pt1 — 0, they converge to the same limit. O
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8 Convergence of infinite sums TA Analysis I

Example.
1 1 + 1 1 n
— — + —= — —= + - - - converges.
VA i
Lemma (Ratio test). We have three versions:
(i) If 3¢ < 1 such that
‘an+1‘ <e,
|an|

for all n, then > a, converges.

(if) If 3¢ < 1 and 3N such that

(Vn > N) |Tn+|1| <e,
an

then > a, converges. Note that just because the ratio is always less than
1, it doesn’t necessarily converge. It has to be always less than a fixed
number c. Otherwise the test will say that > 1/n converges.

(iii) If 3p € (—1,1) such that
an+1
an

)

then > a, converges. Note that we have the open interval (—1,1). If

% — 1, then the test is inconclusive!

Proof.

(i) |an| < ¢ aql. Since " converges, so does Y |a,| by comparison test.
So > a, converges absolutely, so it converges.

(ii) For all k > 0, we have |ay 1| < c¥lan|. So the series Y |anx| converges,
and therefore so does > |a].

(iii) If =2 — p, then % — |p|. So (setting € = (1 — |p|)/2) there exists N
such that Vn > N, % < HT‘pI < 1. So the result follows from (ii).

O
Example. If |b| < 1, then > nd"™ converges, since

n+1
ny1 _ (n+1)b —<1+1>beb<1.
an nbm n

So it converges.

We can also evaluate this directly by considering Z Z b".

=1 n=1

The following two tests were taught at the end of the course, but are included
here for the sake of completeness.
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Theorem (Condensation test). Let (a,) be a decreasing non-negative sequence.
Then > 7, a, < oo if and only if

o0
Z 2o < 0.
k=1

Proof. This is basically the proof that Z% diverges and n% converges for
a < 1 but written in a more general way.
We have

ar +ag+ (a3 +ag) + (as +--- +ag) + (ag + -+ + aw) + - -
>ay + ag + 2a4 + 4ag + 8aig + - - -

So if 3" 2kagk diverges, Y a,, diverges.
To prove the other way round, simply group as

a1+(a2+a3)+(a4—|—---+a7)+...
<ai + 2as +4as + - --

O

Example. If a, = 1, then 2¥ayc = 1. So Y77, 2Page = 00. So > = 0.

1
n=1n
After we formally define integrals, we will prove the integral test:

Theorem (Integral test). Let f : [1,00] — R be a decreasing non-negative
function. Then Y77 | f(n) converges iff [ f(z) dz < oc.

3.4 Complex versions

Most definitions in the course so far carry over unchanged to the complex
numbers. e.g. z, — z iff (Ve > 0)(3N)(Vn > N) |z, — z| <e.

Two exceptions are least upper bound and monotone sequences, because the
complex numbers do not have an ordering! (It cannot be made into an ordered
field because the square of every number in an ordered field has to be positive)
Fortunately, Cauchy sequences still work.

We can prove the complex versions of most theorems so far by looking at the
real and imaginary parts.

Example. Let (z,) be a Cauchy sequence in C. Let z, = x,, + iy,. Then (z,)
and (y,) are Cauchy. So they converge, from which it follows that z, = x,, + iy,
converges.

Also, the Bolzano-Weierstrass theorem still holds: If (z,) is bounded, let
Zn = T + Yn, then (z,) and (y,) are bounded. Then find a subsequence (x, )
that converges. Then find a subsequence of (y,, ) that converges.

Then nested-intervals property has a “nested-box” property as a complex
analogue.

Finally, the proof that absolutely convergent sequences converge still works.
It follows that the ratio test still works.

Example. If |z| < 1, then ) nz™ converges. Proof is the same as above.
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However, we do have an extra test for complex sums.

Lemma (Abel’s test). Let a3 > a9 > -+ > 0, and suppose that a,, — 0. Let
z € C such that |2/ =1 and z # 1. Then Y a,2" converges.

Proof. We prove that it is Cauchy. We have

n +1 2

N N
n
w= Y o
Z n 2_1
n=M n=M
N
1
— Z an n+1 n)
M
N
> 0= Y 0
n=M

—_

-1

n=
<n=M
N N-1
T -1 Z“nz = D e
n= n=M-1
1
_ M n+1
= aNz —aMz + n— a 1
-1 Z n+

We now take the absolute value of everything to obtain

N 1 N—1
Z anz"| < m <GN +an + Z ((ln - an+1)>
n=M n=M
1
= m (ay +an + (ay —aprg1) + -+ (an—1 — an))
2
)
1]
So it is Cauchy. So it converges O

Note that here we transformed the sum Y a,(z"*! — 2") into ayz¥ ! —

arz™ 4+ (an —ans1)2" . What we have effectively done is a discrete analogue
of integrating by parts.

Example. The series Y 2" /n converges if |z| < 1 or if |z| =1 and z # 1, and
it diverges if z =1 or |z| > 1.

The cases |z| < 1 and |z| > 1 are trivial from the ratio test, and Abel’s test
is required for the |z| = 1 cases.
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4 Continuous functions TA Analysis I

4 Continuous functions

4.1 Continuous functions

Definition (Continuous function). Let ACR, a € A, and f: A — R. Then f
is continuous at a if for any € > 0, there is some § > 0 such that if y € A is such
that |y — a| < 4, then |f(y) — f(a)| < e. In symbols, we have

Ve>0)(30>0)(Vye A)|ly—al <d=|f(y) — f(a)] <e.
f is continuous if it is continuous at every a € A. In symbols, we have
(Vae A)(Ve>0)(FF>0)(Vye A)ly—a| <d=|fly) — fla)| <e.

Intuitively, f is continuous at a if we can obtain f(a) as accurately as we
wish by using more accurate values of a (the definition says that if we want to
approximate f(a) by f(y) to within accuracy e, we just have to get our y to
within 0 of a for some §).

For example, suppose we have the function

f(x)={0 LT

1 z>m

Suppose that we don’t know what the function actually is, but we have a
computer program that computes this function. We want to know what f ()
is. Since we cannot input 7 (it has infinitely many digits), we can try 3, and it
gives 0. Then we try 3.14, and it gives 0 again. If we try 3.1416, it gives 1 (since
m = 3.1415926 - - - < 3.1416). We keep giving more and more digits of 7, but the
result keeps oscillating between 0 and 1. We have no hope of what f(7) might
be, even approximately. So this f is discontinuous at 7.

However, if we have the function g(z) = 22, then we can find the (approx-
imate) value of g(m). We can first try ¢(3) and obtain 9. Then we can try
9(3.14) = 9.8596, ¢(3.1416) = 9.86965056 etc. We can keep trying and obtain
more and more accurate values of g(m). So g is continuous at 7.

Example.
— Constant functions are continuous.
— The function f(z) = = is continuous (take § = ¢).

The definition of continuity of a function looks rather like the definition of
convergence. In fact, they are related by the following lemma:

Lemma. The following two statements are equivalent for a function f: A — R.
— f is continuous
— If (ay) is a sequence in A with a,, — a, then f(a,) = f(a).

Proof. (1)=(ii) Let € > 0. Since f is continuous at a,

(36 >0)(vy € A)ly —al <6 = [f(y) — fla)| <e.
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We want N such that ¥n > N, |f(an) — f(a)|] < . By continuity, it is enough
to find N such that Vn > N, |a,, — a| < 4. Since a,, — a, such an N exists.
(ii)=-(i) We prove the contrapositive: Suppose f is not continuous at a. Then

(Fe>0)(Vo>0)Fye A)|ly—a| <dand |f(y) — fla)] > e.

For each n, we can therefore pick a, € A such that |a, —a| <  and |f(an) —
f(a)| > €. But then a,, — a (by Archimedean property), but f(a,) 4 f(a). O

Example.

-1 <0
(i) Let f(z) = ) . “ 0 Then f is not continuous because —% — 0 but
z> ,

f(=3) = =1 # f(0).
(ii) Let f: Q — R with

0 22<2

IE2
f(m):{1 > 2

Then f is continuous. For every a € QQ, we can find an interval about a on
which f is constant. So f is continuous at a.

f(x){sini x#0

(iii) Let

0 z=0

Then f(a) is discontinuous. For example, let a,, = 1/[(2n + 0.5)7]. Then
an — 0 and f(a,) — 1 # £(0).

We can use this sequence definition as the definition for continuous functions.
This has the advantage of being cleaner to write and easier to work with. In
particular, we can reuse a lot of our sequence theorems to prove the analogous
results for continuous functions.

Lemma. Let A CR and f,g: A — R be continuous functions. Then
(i) f+ g is continuous
(ii) fg is continuous

(iii) if g never vanishes, then f/g is continuous.

Proof.

(i) Let a € A and let (a,) be a sequence in A with a,, — a. Then

(f +9)(an) = flan) + g(an).

But f(an) — f(a) and g(a,) — g(a). So

flan) +g(an) = f(a) +g(a) = (f + g)(a).

(ii) and (iii) are proved in exactly the same way. O
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With this lemma, from the fact that constant functions and f(z) = z are
continuous, we know that all polynomials are continuous. Similarly, rational
functions P(z)/Q(x) are continuous except when Q(z) = 0.

Lemma. Let ABC Rand f: A— B, g: B — R. Then if f and g are
continuous, go f : A — R is continuous.

Proof. We offer two proofs:

(i) Let (ay) be a sequence in A with a,, — a € A. Then f(a,) — f(a) since
f is continuous. Then g¢(f(ay)) — g(f(a)) since g is continuous. So g o f
is continuous.

(ii) Let a € A and € > 0. Since g is continuous at f(a), there exists n > 0 such
that Vz € B, |2 — f(a)| <1 = |9(2) = g(f(a))] <e.

Since f is continuous at a, 3 > 0 such that Vy € A, |y —a|] < § =
|f(y) = f(a)] <n. Therefore |y —a| <6 =[g(f(y)) —g(f(a))] <e.

O

There are two important theorems regarding continuous functions — the
maximum value theorem and the intermediate value theorem.

Theorem (Maximum value theorem). Let [a,b] be a closed interval in R and
let f :[a,b] = R be continuous. Then f is bounded and attains its bounds, i.e.
f(x) = sup f for some x, and f(y) = inf f for some y.

Proof. If f is not bounded above, then for each n, we can find z,, € [a,b] such
that f(x,) > n for all n.

By Bolzano-Weierstrass, since z, € [a,b] and is bounded, the sequence
(zn) has a convergent subsequence (x,, ). Let = be its limit. Then since f is
continuous, f(zn,) — f(x). But f(z,,) > ni — oo. So this is a contradiction.

Now let C' = sup{f(x) : € [a,b]}. Then for every n, we can find z,
such that f(z,) > C — L. So by Bolzano-Weierstrass, (z,,) has a convergent
subsequence (z,,). Since C' — = < f(zn,) < C, f(z,,) — C. Therefore if
x =limz,,, then f(z) =C.

A similar argument applies if f is unbounded below. O

Theorem (Intermediate value theorem). Let a < b € R and let f : [a,b] = R
be continuous. Suppose that f(a) < 0 < f(b). Then there exists an = € (a, b)
such that f(x) = 0.

Proof. We have several proofs:

(i) Let A ={z: f(z) < 0} and let s = sup A. We shall show that f(s) =0
(this is similar to the proof that V2 exists in Numbers and Sets). If
f(s) <0, then setting € = | f(s)| in the definition of continuity, we can find
0 > 0 such that Vy, |y — s| < d = f(y) < 0. Then s+ /2 € A, so s is not
an upper bound. Contradiction.

If f(s) > 0, by the same argument, we can find § > 0 such that Vy,
ly —s| <d= f(y) >0. So s — /2 is a smaller upper bound.
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(ii) Let ag = a, by = b. By repeated bisection, construct nested intervals

[@n, by] such that b, — a, = 252 and f(a,) < 0 < f(b,). Then by the

nested intervals property, we can find € NS y[an, b,]. Since b, —a, — 0,
Qp,y by — T

Since f(ay) < 0 for every n, f(z) < 0. Similarly, since f(b,) > 0 for every
n, f(x) > 0. So f(z) =0.

O

Tt is easy to generalize this to get that, if f(a) < ¢ < f(b), then 3z € (a,b)
such that f(z) = ¢, by applying the result to f(z) — c¢. Also, we can assume
instead that f(b) < ¢ < f(a) and obtain the same result by looking at — f(x).

Corollary. Let f : [a,b] — [c,d] be a continuous strictly increasing function
with f(a) =¢, f(b) = d. Then f is invertible and its inverse is continuous.

Proof. Since f is strictly increasing, it is an injection (suppose z # y. wlog,
x < y. Then f(x) < f(y) and so f(x) # f(y)). Now let y € (¢,d). By the
intermediate value theorem, there exists x € (a,b) such that f(z) =y. So f is a
surjection. So it is a bijection and hence invertible.

Let g be the inverse. Let y € [¢,d] and let € > 0. Let x = g(y). So f(z) =y.
Let u = f(x —¢) and v = f(x +¢) (if y = c or d, make the obvious adjustments).
Then u < y < v. So we can find § > 0 such that (y — §,y +9) C (u,v). Then
2yl <d=g(z) € (x—e,x+e)=|9(z) —g(y)| <e. O

With this corollary, we can create more continuous functions, e.g. v/x.

4.2 Continuous induction*

Continuous induction is a generalization of induction on natural numbers. It
provides an alternative mechanism to prove certain results we have shown.

Proposition (Continuous induction v1). Let a < b and let A C [a, b] have the
following properties:

(i) ac A

(ii) If x € A and x # b, then Jy € A with y > x.
(i) f Ve >0,y € A:y € (x — e, ], then x € A.
Then b € A.

Proof. Since a € A, A # (). A is also bounded above by b. So let s = sup A.
Then Ve > 0, Jy € A such that y > s — e. Therefore, by (iii), s € A.
If s # b, then by (ii), we can find y € A such that y > s. O

It can also be formulated as follows:
Proposition (Continuous induction v2). Let A C [a,b] and suppose that
(i)ac A

(i) If [a, 2] € A and x # b, then there exists y > z such that [a,y] C A.
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(iii) If [a,z) C A, then [a,z] C A.
Then A = [a, b]

Proof. We prove that version 1 = version 2. Suppose A satisfies the conditions
of v2. Let A’ = {z € [a,b] : [a,z] C A}.

Then a € A'. If x € A’ with  # b, then [a,2] C A. So Jy > z such that
[a,y] € A. So Jy > z such that y € A’.

If Ve > 0,3y € (z — &, 2] such that [a,y] C A, then [a,z) C A. So by (iii),
[a,2] C A, sox € A’. So A’ satisfies properties (i) to (iii) of version 1. Therefore
be A'. So [a,b] C A. So A = [a,b]. O

We reprove intermediate value theorem here:

Theorem (Intermediate value theorem). Let a < b € R and let f : [a,b] = R
be continuous. Suppose that f(a) < 0 < f(b). Then there exists an x € (a,b)
such that f(x) = 0.

Proof. Assume that f is continuous. Suppose f(a) < 0 < f(b). Assume that
(Vz) f(x) # 0, and derive a contradiction.

Let A ={z: f(z) < 0} Then a € A. If x € A, then f(z) < 0, and by
continuity, we can find § > 0 such that |y — 2| < § = f(y) < 0. So if z # b, then
we can find y € A such that y > z.

We prove the contrapositive of the last condition, i.e.

g€ A= (36>0)(VyeAy¢& (z—96x]

If ¢ A, then f(z) > 0 (we assume that f is never zero. If not, we're done).
Then by continuity, 36 > 0 such that |y — x| < § = f(y) > 0. So y & A.
Hence by continuous induction, b € A. Contradiction. O

Now we prove that continuous functions in closed intervals are bounded.

Theorem. Let [a, b] be a closed interval in R and let f : [a, b] — R be continuous.
Then f is bounded.

Proof. Let f : [a,b] be continuous. Let A = {x : f is bounded on [a, z]}. Then
ac€ A Ifx € A,z # b, then 36 > 0 such that |y —z| < d = |f(y) — f(z)| < 1.
So Jy > x (e.g. take min{x 4 §/2,b}) such that f is bounded on [a,y], which
implies that y € A.

Now suppose that Ve > 0, Jy € (z, —¢, x] such that y € A. Again, we can
find § > 0 such that f is bounded on (x —d,z +0), and in particular on (x — 4, z]|.
Pick y such that f is bounded on [a,y] and y > = — §. Then f is bounded on
[a,z]. So x € A.

So we are done by continuous induction. O

Finally, we can prove a theorem that we have not yet proven.

Definition (Cover of a set). Let A C R. A cover of A by open intervals is a
set {1, : v € I'} where each I, is an open interval and A C | - .

A finite subcover is a finite subset {I,,,---, I, } of the cover that is still a
cover.

19"

Not every cover has a finite subcover. For example, the cover {(1,1) : n € N}
of (0,1) has no finite subcover.
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Theorem (Heine-Borel*). Every cover of a closed, bounded interval [a,b] by
open intervals has a finite subcover. We say closed intervals are compact (cf.
Metric and Topological Spaces).

Proof. Let {I, : v € T'} be a cover of [a,b] by open intervals. Let A = {z : [a, z]
can be covered by finitely many of the I,}.

Then a € A since a must belong to some 1.

If x € A, then pick v such that x € I,. Then if « # b, since I, is an open
interval, it contains [z, y] for some y > . Then [a,y] can be covered by finitely
many I, by taking a finite cover for [a, ] and the I, that contains .

Now suppose that Ve > 0,3y € A such that y € (z — ¢, z].

Let I, be an open interval containing z. Then it contains (x — €, ] for some
€ > 0. Pick y € A such that y € (x —¢, z]. Now combine I, with a finite subcover
of [a,y] to get a finite subcover of [a,z]. So z € A.

Then done by continuous induction. O

We can use Heine-Borel to prove that continuous functions on [a,b] are
bounded.

Theorem. Let [a, b] be a closed interval in R and let f : [a, ] — R be continuous.
Then f is bounded and attains it bounds, i.e. f(z) = sup f for some z, and
f(y) =inf f for some y.

Proof. Let f : [a,b] — R be continuous. Then by continuity,
(Vo € [a,0])(30: > 0)(Vy) ly — 2| < bz = |f(y) — fz)] <1.

Let v = [a,b] and for each x € v, let I, = (x — 0,2 + d;). So by Heine-Borel,

we can find @1, -+ , 2, such that [a,b] C U} (x; — 0u,, 2 + 0s,)-
But f is bounded in each interval (x; — 0,,,2; + d5,) by | f(z;)| + 1. So it is
bounded on [a,b] by max |f(x;)| + 1. O
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5 Differentiability

In the remainder of the course, we will properly develop calculus, and put
differentiation and integration on a rigorous foundation. Every notion will be
given a proper definition which we will use to prove results like the product and
quotient rule.

5.1 Limits

First of all, we need the notion of limits. Recall that we’ve previously had limits
for sequences. Now, we will define limits for functions.

Definition (Limit of functions). Let A C R and let f: A — R. We say

lim f(z) =¢,

T—ra

or “f(z) > Lasxz —a”,if
(Ve>0)(F0>0) Ve e A)0< |z —al <d=|f(x)— ¢ <e.

We couldn’t care less what happens when & = a, hence the strict inequality
0 < |z — a|. In fact, f doesn’t even have to be defined at z = a.

) x#£2
ﬂ@—{3x22

Example. Let

Then lim2 = 2, even though f(2) = 3.
z—

x

Example. Let f(x) = 522 Then f(0) is not defined but lirr%) f(z)=1.
T—
We will see a proof later after we define what sin means.

We notice that the definition of the limit is suspiciously similar to that of
continuity. In fact, if we define

ﬂ@:{ﬂ@ v#a

14 Tr=a

Then f(z) — ¢ as ¢ — a iff ¢ is continuous at a.
Alternatively, f is continuous at a if f(z) — f(a) as  — a. It follows also
that f(z) — £ as z — a iff f(x,) — ¢ for every sequence (x,) in A with z,, — a.
The previous limit theorems of sequences apply here as well

Proposition. If f(x) — ¢ and g(x) = m as © — a, then f(z) + g(x) = £+ m,

f(@)g(xz) — fm, and % — % if g and m don’t vanish.

5.2 Differentiation

Similar to what we did in TA Differential Equations, we define the derivative as
a limit.
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Definition (Differentiable function). f is differentiable at a with derivative X if
@) - @)
T—a Tr—a

Equivalently, if

=\

i fla+h) = f(a)
h—0 h
We write A = f/(a).

Here we see why, in the definition of the limit, we say that we don’t care
what happens when z = a. In our definition here, our function is 0/0 when
r = a, and we can’t make any sense out of what happens when x = a.

Alternatively, we write the definition of differentiation as

flx+h) - fz)
h

where £(h) — 0 as h — 0. Rearranging, we can deduce that

fl@+h) = f(z) + hf'(x) + he(h),

= /'(x) + (),

Note that by the definition of the limit, we don’t have to care what value € takes
when h = 0. It can be 0, 7 or 1010, However, we usually take £(0) = 0 so that
€ is continuous.

Using the small-o notation, we usually write o(h) for a function that satisfies
o(h)

=~ —0as h — 0. Hence we have

Proposition.
flx+h) = f(z) + hf'(z) + o(h).

We can interpret this as an approximation of f(x + h):

fla+h)= fx)+hf'(x) + o(h)
— ~~

linear approximation  error term

And differentiability shows that this is a very good approximation with small
o(h) error.
Conversely, we have

Proposition. If f(z + h) = f(z) + hf'(z) + o(h), then f is differentiable at =
with derivative f/(x).

Proof.
flxz+h) - flz)
h

o(h)

s f(a)

= @)+

We can take derivatives multiple times, and get multiple derivatives.

Definition (Multiple derivatives). This is defined recursively: f is (n + 1)-
times differentiable if it is n-times differentiable and its nth derivative f™ is
differentiable. We write f("+1) for the derivative of f(™, i.e. the (n + 1)th
derivative of f.

Informally, we will say f is n-times differentiable if we can differentiate it n
times, and the nth derivative is ().
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We can prove the usual rules of differentiation using the small o-notation. It
can also be proven by considering limits directly, but the notation will become a
bit more daunting.

Lemma (Sum and product rule). Let f,g be differentiable at z. Then f + g
and fg are differentiable at x, with

(f+9) (@)= f(z)+g'(2)
(f9)'(x) = f'(x)g(x) + f(2)g'(x)

Proof.

(f+9)(@+h)=flz+h)+g(z+h)
= f(x) + hf'(z) + o(h) + g(x) + hy'(z) + o(h)
= (f+9) @)+ h(f'(z) + ¢'(x)) + o(h)
fo(x+h) = f(z +h)g(x+h)
= [f (@) + 1f'(x) + o(M)]lg(x) + hg'(x) + o(h)]
= f(x)g(x) + hlf'()g(x) + f(2)g ()]
+o(h)[g(@) + f(x) + hf'(x) + hg'(x) + o(h)] + h*f'(x)g' ()

error term

By limit theorems, the error term is o(h). So we can write this as

= f9(@) + h(f'(x)g(x) + f(2)g'(x)) + o(h).
O

Lemma (Chain rule). If f is differentiable at = and g is differentiable at f(z),
then g o f is differentiable at x with derivative ¢'(f(z))f'(z).

Proof. In this proof, we use he(h) instead of o(h).

(g0 f)(@+h) = g(f(x +h))
= glf (@) + hf'(x) + he1 (h)
the “h” term
= g(f(@)) + (f9'(x) + her (R)) g (f(2))
(hf( )+h€1(h))€2(hf( )+ hei(h))
= go f(x) + hg'(f(2)f'(x)
+h[e1 (g () + (' () + e1(W))e2 (S (@) + hea (1) ]

error term

We want to show that the error term is o(h), i.e. it divided by h tends to 0 as
h—0.

But e1(h)¢'(f(x)) — 0, f'(z)+e1(h) is bounded, and ea(hf'(x)+he1(h)) — 0
because hf’(x) + he1(h) — 0 and £5(0) = 0. So our error term is o(h). O

We usually don’t write out the error terms so explicitly, and just use heuristics

like f(xz +o(h)) = f(x)+ o(h); o(h) + o(h) = o(h); and g(x) - o(h) = o(h) for any
(bounded) function g.
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Example.
(i) Constant functions are differentiable with derivative 0.
(ii) f(x) = Az is differentiable with derivative A.

(iii) Using the product rule, we can show that z” is differentiable with derivative
nz™ ! by induction.

(iv) Hence all polynomials are differentiable.

Example. Let f(z) =1/x. If x # 0, then

ferh) - 1@ -t (wm) a0

%
h h h xz(z + h) x?
by limit theorems.

Lemma (Quotient rule). If f and g are differentiable at z, and g(z) # 0, then
f/g is differentiable at = with derivative

<f)' (2) = f'(@)g(z) — g'(2) f(z)
g

Proof. First note that 1/g(x) = h(g(x)) where h(y) = 1/y. So 1/g(z) is differen-

tiable at x with derivative ——zg¢'(x) by the chain rule.
g(x
By the product rule, f/g is differentiable at = with derivative

f'(x) "(x) _ fl(@)g(x) - fz)g'(x)
g(x) (x)? g(x)? '

9
— @)

Lemma. If f is differentiable at z, then it is continuous at z.

Proof. Asy — =z, W — f'(x). Since, y —x — 0, f(y) — f(z) — 0 by

product theorem of limits. So f(y) — f(x). So f is continuous at z. O

Theorem. Let f : [a,b] — [c, d] be differentiable on (a,b), continuous on [a, ],
and strictly increasing. Suppose that f’(x) never vanishes. Suppose further that
f(a) = c and f(b) = d. Then f has an inverse g and for each y € (¢,d), g is
differentiable at y with derivative 1/f'(g(y)).

In human language, this states that if f is invertible, then the derivative of

fltis1/f".

Note that the conditions will (almost) always require f to be differentiable
on open interval (a,b), continuous on closed interval [a,b]. This is because it
doesn’t make sense to talk about differentiability at a or b since the definition of
f'(a) requires f to be defined on both sides of a.
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Proof. g exists by an earlier theorem about inverses of continuous functions.
Let y,y + k € (¢,d). Let x = g(y), t + h =gy + k).
Since g(y + k) =z + h, we have y + k = f(x + h). Sok = f(x +h) —y =
fle+h)— f(z). So
gy+k) —gly) _ (@+h)-c (f<x+h>—f<w>)1
z f@+h) — f@) h '
As k — 0, since g is continuous, g(y + k) — g(y). So h — 0. So

AR Z9W)  1payr = [ gl

Example. Let f(x) = 2!/? for > 0. Then f is the inverse of g(z) = 22. So

ron 1 11y,
fi(z) = g (f(z)) T oopl/2 21‘ 2,

Similarly, we can show that the derivative of 1/ is %xl/qfl.

Then let’s take 2P/¢ = (2/9)P. By the chain rule, its derivative is

plat/?)pL. }m1/q—1 _ P i1 P e
q q q

5.3 Differentiation theorems

Everything we’ve had so far is something we already know. It’s just that now we
can prove them rigorously. In this section, we will come up with genuinely new
theorems, including but not limited to Taylor’s theorem, which gives us Taylor’s
series.

Theorem (Rolle’s theorem). Let f be continuous on a closed interval [a, b]
(with @ < b) and differentiable on (a, b). Suppose that f(a) = f(b). Then there
exists « € (a,b) such that f'(z) = 0.

It is intuitively obvious: if you move up and down, and finally return to the
same point, then you must have changed direction some time. Then f'(x) =0
at that time.

Proof. If f is constant, then we’re done.

Otherwise, there exists u such that f(u) # f(a). wlog, f(u) > f(a). Since f
is continuous, it has a maximum, and since f(u) > f(a) = f(b), the maximum
is not attained at a or b.

Suppose maximum is attained at x € (a,b). Then for any h # 0, we have

fle+h)—f(z) |<0 h>0
h >0 h<O

since f(x+h)— f(z) < 0 by maximality of f(z). By considering both sides as we
take the limit h — 0, we know that f'(z) <0 and f/'(z) > 0. So f'(z) =0. O
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Corollary (Mean value theorem). Let f be continuous on [a,b] (a < b), and
differentiable on (a,b). Then there exists x € (a,b) such that

1)~ fla)

Py =12

Note that w is the slope of the line joining f(a) and f(b).

The mean value theorem is sometimes described as “rotate your head and
apply Rolle’s”. However, if we actually rotate it, we might end up with a
non-function. What we actually want is a shear.

Proof. Let
o) = 1) - 1O T,
Then
_ f(b) = f(a)

(b—a)=0.

b—a
So by Rolle’s theorem, we can find z € (a,b) such that ¢’(x) = 0. So
f(0) = f(a)
/ —_—
f (1’) - b—a ’
as required. O

We've always assumed that if a function has a positive derivative everywhere,
then the function is increasing. However, it turns out that this is really hard to
prove directly. It does, however, follow quite immediately from the mean value
theorem.

Example. Suppose f'(x) > 0 for every x € (a,b). Then for u,v in [a, b], we can
find w € (u,v) such that

f(v) = f(w)

v—1Uu

= f'(w) > 0.

It follows that f(v) > f(u). So f is strictly increasing.
Similarly, if f/(z) > 2 for every  and f(0) = 0, then f(1) > 2, or else we
can find z € (0,1) such that

f() = f(0)

25 @) = =95

= 7(1).
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Theorem (Local version of inverse function theorem). Let f be a function with
continuous derivative on (a, b).

Let = € (a,b) and suppose that f’(z) # 0. Then there is an open interval
(u, v) containing x on which f is invertible (as a function from (u,v) to f((u,v))).
Moreover, if g is the inverse, then ¢'(f(2)) = ﬁ for every z € (u,v).

This says that if f has a non-zero derivative, then it has an inverse locally
and the derivative of the inverse is 1/f’.

Note that this not only requires f to be differentiable, but the derivative
itself also has to be continuous.

Proof. wlog, f'(x) > 0. By the continuity, of f’, we can find § > 0 such that
f'(z) > 0 for every z € (x — §,x + §). By the mean value theorem, f is strictly
increasing on (z — ¢, x 4+ d), hence injective. Also, f is continuous on (z — 4,z +9)
by differentiability.

Then done by the inverse function theorem. O

Finally, we are going to prove Taylor’s theorem. To do so, we will first need
some lemmas.

Theorem (Higher-order Rolle’s theorem). Let f be continuous on [a,b] (a < b)
and n-times differentiable on an open interval containing [a, b]. Suppose that

fla)=f'(a) = fP(a) = = f""V(a) = f(b) = 0.
Then 3z € (a,b) such that f(™)(x) = 0.

Proof. Induct on n. The n = 0 base case is just Rolle’s theorem.

Suppose we have k < n and xp € (a,b) such that f(*)(z;) = 0. Since
f®(a) = 0, we can find 241 € (a,zy) such that f*+9 (x4 1) = 0 by Rolle’s
theorem.

So the result follows by induction. O

Corollary. Suppose that f and g are both differentiable on an open interval
containing [a,b] and that f*)(a) = ¢*)(a) for k = 0,1,--- ,n — 1, and also
f(b) = g(b). Then there exists € (a,b) such that ™ (z) = g(")(x).

Proof. Apply generalised Rolle’s to f — g. O

Now we shall show that for any f, we can find a polynomial p of degree at
most n that satisfies the conditions for g, i.e. a p such that p*)(a) = f*)(a) for
k=0,1,--- ,n—1 and p(b) = f(b).

A useful ingredient is the observation that if

_ Kk
Qela) = T
then
@Dyt T=k
i (a) = {0 jy
Therefore, if
n—1
Q(z) =Y fM(a)Qx(x),
k=0
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then . ‘
QU (@) = f9)(a)
for j =0,1,--- ,n— 1. To get p(b) = f(b), we use our nth degree polynomial
term:
(3? _ a)n

) = QUa) + (=i (7(6) =~ Q).

Then our final term does not mess up our first n — 1 derivatives, and gives

p(b) = f(b).

By the previous corollary, we can find x € (a,b) such that

F (@) =p" (@),

That is,
£ @) = s (F0) ~ Q).
Therefore
£6) = Q) + L= p
Alternatively, '
F0) = @)+ 0= a)f @)+ S o0 gy 4 Lo o)

Setting b = a + h, we can rewrite this as
Theorem (Taylor’s theorem with the Lagrange form of remainder).

hn—l
(n—1)!

(n—1)-degree approximation to f near a

FOD (@) + 2 ).

error term

fla+h) = f(a)+hf'(a)+-+

for some x € (a,a+ h).

Strictly speaking, we only proved it for the case when h > 0, but we can
easily show it holds for A < 0 too by considering g(z) = f(—x).

Note that the remainder term is not necessarily small, but this often gives
us the best (n — 1)-degree approximation to f near a. For example, if f(*) is
bounded by C' near a, then

h" n c n n—
SO @) < Sl = ok ).

Example. Let f : R — R be a differentiable function such that f(0) =1 and
f'(z) = f(z) for every x (intuitively, we know it is e* , but that thing doesn’t
exist!). Then for every x, we have

x? 28 >, 2"
f(x):1+x+§+§+~--=n§::om.

While it seems like we can prove this works by differentiating it and see that
f'(z) = f(x), the sum rule only applies for finite sums. We don’t know we can
differentiate a sum term by term. So we have to use Taylor’s theorem.
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Since f'(z) = f(x), it follows that all derivatives exist. By Taylor’s theorem,

f@(0) FO0) o M),
TR o A TR

for some u between 0 and x. This equals to

n—1 p (n)
flay =3 o s LW

n!
k=0

We must show that the remainder term %x” — 0 as n — oo. Note here
that z is fixed, but u can depend on n.

But we know that f(")(u) = f(u), but since f is differentiable, it is continuous,
and is bounded on [0, z]. Suppose |f(u)| < C on [0,z]. Then

Fm@ C
‘ ' :L,’IL
n.

< —lz|" =0
n!

from limit theorems. So it follows that

1‘2 1‘3 e "
f(x):1+x+§+§+~--zgﬁ.

5.4 Complex differentiation

Definition (Complex differentiability). Let f: C — C. Then f is differentiable
at z with derivative f/(z) if

o SR = ()

ists and Is f'(z).
lim Y exists and equals f'(z)

Equivalently,
f(z+h) = f(z) + hf'(z) +o(h).

This is exactly the same definition with real differentiation, but has very
different properties!

All the usual rules — chain rule, product rule etc. also apply (with the same
proofs). Also the derivatives of polynomials are what you expect. However, there
are some more interesting cases.

Example. f(z) =z is not differentiable.

h

z—l—h—;_ﬁ_ 1 h is real
~h -1 his purely imaginary

If this seems weird, this is because we often think of C as R2, but they are
not the same. For example, reflection is a linear map in R?, but not in C. A
linear map in C is something in the form = + bz, which can only be a dilation
or rotation, not reflections or other weird things.

Example. f(z) = |z| is also not differentiable. If it were, then |z|> would be as

2
well (by the product rule). So would % = Z when z # 0 by the quotient rule.
At z = 0, it is certainly not differentiable, since it is not even differentiable on R.
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6 Complex power series

Before we move on to integration, we first have a look at complex power series.
This will allow us to define the familiar exponential and trigonometric functions.

Definition (Complex power series). A complex power series is a series of the

form
o0
E anz".
n=0

when z € C and a,, € C for all n. When it converges, it is a function of z.

When considering complex power series, a very important concept is the
radius of convergence. To make sense of this concept, we first need the following
lemma:

Lemma. Suppose that > a,2" converges and |w| < |z|, then > a,w™ converges
(absolutely).

Proof. We know that

w n
lanw™| = lanz"|- ‘7’ '
z
Since Y a,2™ converges, the terms a,z" are bounded. So pick C such that
lan 2" < C

for every n. Then
oo o0 w n
0< D laww"l <3 C| 7]
n=0 n=0

which converges (geometric series). So by the comparison test, Y a,w™ converges
absolutely. O

It follows that if Y a, 2™ does not converge and |w| > |z|, then 3 a,w™ does
not converge.

Now let R = sup{|z| : }_ an2"™ converges } (R may be infinite). If |z| < R,
then we can find zg with |2] € (||, R] such that > a,z{ converges. So by
lemma above, > a,z" converges. If |z| > R, then > a,2" diverges by definition
of R.

Definition (Radius of convergence). The radius of convergence of a power series
danz"is
R = sup {|z| : E anz" converges }

{z 1 ]z| < R} is called the circle of convergence.'.

If |z| < R, then Y a,2™ converges. If |z| > R, then > an2™ diverges. When
|z] = R, the series can converge at some points and not the others.

oo

Example. Zz” has radius of convergence of 1. When |z| = 1, it diverges
n=0

(since the terms do not tend to 0).

INote to pedants: yes it is a disc, not a circle
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X _n

Example. Z z has radius of convergence 1, since the ratio of (n + 1)th term
n

n=0

to nth is .
" 1
HRA k) /(n+)=z- LN
2" /n n+1

Soif |z| < 1, then the series converges by the ratio test. If |z| > 1, then eventually
the terms are increasing in modulus.
If z =1, then it diverges (harmonic series). If |z| = 1 and z # 1, it converges
by Abel’s test.
X _n
Example. The series Z 2—2 converges for |z| <1 and diverges for |z| > 1.
n=1
As evidenced by the above examples, the ratio test can be used to find the
radius of convergence. We also have an alternative test based on the nth root.

Lemma. The radius of convergence of a power series Y a,2" is

1

limsup {/[an|

Often {/|a,| converges, so we only have to find the limit.

Proof. Suppose |z| < 1/limsup {/|ay|.- Then |z|limsup {/|a,| < 1. Therefore
there exists N and € > 0 such that

sup |z|Vl]an| <1—¢
n>N

by the definition of lim sup. Therefore

lanz"| < (1 —¢e)"

for every n > N, which implies (by comparison with geometric series) that
> anz™ converges absolutely.

On the other hand, if |z|limsup /|a,| > 1, it follows that |z| {/|a,| > 1 for
infinitely many n. Therefore |a,, 2™ > 1 for infinitely many n. So > a,z" does
not converge. O

. 2" . 1
Example. The radius of convergence of on is 2 because {/|a,| = 5 for every

n. So limsup {/|a,| = 4. So 1/limsup {/|a,| = 2.

But often it is easier to find the radius convergence from elementary methods
such as the ratio test, e.g. for > n2z".

6.1 Exponential and trigonometric functions

Definition (Exponential function). The exponential function is

oo Zn
A _
=y
n=0
By the ratio test, this converges on all of C.
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A fundamental property of this function is that

Once we have this property, we can say that

Proposition. The derivative of e is e*.

Proof.
e*th —e? _ o el —1
h B h
_ (1 h k2
=e +a+§+~-~
But
L O N O O L1 S
2! 3 -2 4 8 ~1—1hl/2 '
So
62+h762
. — €*.

O

But we must still prove that e*T% = e?e¥.
Consider two sequences (ay,), (by). Their convolution is the sequence (cy,)
defined by
Cn = agbn + a1bp_1 + azbp_2 + - - + aybo.

The relevance of this is that if you take

N N N
(Z anz”> (Z bnz"> and Z cnz”,
n=0 n=0 n=0
and equate coefficients of z”, you get

Cn = by + a1bp—1 + a2bp_o + -+ 4 anbo.

Theorem. Let > ° ja, and >~ b, be two absolutely convergent series, and
let (¢,) be the convolution of the sequences (a,) and (b,). Then Y.~ ¢,
converges (absolutely), and

Sen (S (5]

Proof. We first show that a rearrangement of Y ¢,, converges absolutely. Hence
it converges unconditionally, and we can rearrange it back to Y ¢,.
Consider the series

(aobo) =+ (aol)1 —+ (llbl + albo) —+ (a0b2 —+ a1b2 —+ a2b2 —+ (lle + (lgbo) + .. (*)

Let
N N

N N
SN= an, Tn=) by, Uv=>) lanl, V=D |bal.
n=0 n=0

n=0 n=0
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6 Complex power series TA Analysis I

Alsolet Sy — S, Ty — T, Uy — U, VN — V (these exist since Y a, and Y b,
converge absolutely).

If we take the modulus of the terms of (*), and consider the first (N + 1)
terms (i.e. the first N+ 1 brackets), the sum is Un V. Hence the series converges
absolutely to UV. Hence (x) converges.

The partial sum up to (N + 1)? of the series (x) itself is Sy7Tw, which
converges to ST. So the whole series converges to ST

Since it converges absolutely, it converges unconditionally. Now consider a
rearrangement:

apbg + (a0b1 + albo) + (aobg + ai1b; + agbo) + -

Then this converges to ST as well. But the partial sum of the first 14+24---+ N
terms is cg +¢1 + -+ cn. So

écﬁg:@an) (ib) 0

Corollary.

ezew — ez+u1.

Proof. By theorem above (and definition of e*),

e w Py wnfl 22 wn72 L
ZoWw _ 1.2 4~ - I |
e Z( P T e SR T o) [ )

n=0

— 1
efeV = Z ] <w” + (Tll) 2w+ (Z) 2w (Z) z”>

n=0

= Z(z + w)™ by the binomial theorem
n=0
= et O
Note that if (¢,,) is the convolution of (a,) and (b,,), then the convolution
of (a,2") and (b,2") is (¢p2™). Therefore if both > a,z™ and >_ b, 2™ converge
absolutely, then their product is »_ ¢, 2".
Note that we have now completed the proof that the derivative of e* is €.
Now we define sin z and cos z:

Definition (Sine and cosine).

iziezz ZS 25 2’7
Slnz:T:z—ngﬁ*ﬁJr
eiz+e—iz 2:2 Z4 ZG
:7:1_7 —_—— — e,
€08 = 2 STIRVTRTI

We now prove certain basic properties of sin and cos, using known properties

of e*.
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6 Complex power series TA Analysis I

Proposition.
) et + je~ ¥
d—smz = — = cosz
z 1

1e'? —ie ¥ )

—cosz=————=—sinz

dz 2
e?iz + 2+ 6—21'2 eQiz -2+ e—2iz

sin? 2 4 cos® z = 1 + 1 =1.

It follows that if z is real, then |cosz| and |sinz| are at most 1.

Proposition.

cos(z + w) = cosz cosw — sin z sinw

sin(z + w) = sin z cos w + cos z sinw
Proof.

iz —iz\( piw —iw iz _ =iz (plw _ ,—iw
cos z cosw — sin zsinw = (e +e)(e™ +e7™) | (e e "")(e e ")

+

4
ei(z+w) 4 e—z’(z—i—w)
2
= cos(z + w). O

Differentiating both sides wrt z gives

—sinzcosw — cos zsinw = — sin(z + w).
So
sin(z + w) = sin z cos w + cos z sin w.
When z is real, we know that cosz < 1. Also sin0 = 0, and %sinx =

cosx < 1. So for & > 0, sinx < z, “by the mean value theorem”. Also, cos0 =1,
and (f—:c cosz = —sinx, which, for x > 0, is greater than —z. From this, it follows

that when x > 0, cosz > 1 — ””—22 (the 1 — % comes from “integrating” —z, (or
finding a thing whose derivative is —z)).

Continuing in this way, we get that for x > 0, if you take truncate the power
series for sinx or cosx, it will be > sinz, cosx if you stop at a positive term,
and < if you stop at a negative term. For example,

$3 1‘5 1‘7 x9 .CL‘H

R T TR TR ST

In particular,
2<1 22—}—24—1 2+2<0
ORE=I T Ty T 3~
Since cos0 = 1, it follows by the intermediate value theorem that there exists

some z € (0,2) such that cosz = 0. Since cosz > 1 —
that z > 1.

2
%, we can further deduce

Definition (Pi). Define the smallest = such that cosz = 0 to be 7.
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Since sin® z + cos? z = 1, it follows that sin Z = £1. Since cosz > 0 on [0, %],

sin § > 0 by the mean value theorem. So sin § = 1.

Thus
Proposition.
Q .
cos (z—|— 5) = —sinz
) 7T
Sin (z + 5) =cosz
cos(z+m) = —cosz
sin(z +7) = —sin z
cos(z 4 2m) = cos z
sin(z + 27) = sinz
Proof.
( n w) T .
cos|z+ =) =coszcos — —sinzsin —
2 2 2
. T
= —sinzsin —
2
= —sinz
and similarly for others. O

6.2 Differentiating power series

We shall show that inside the circle of convergence, the derivative of >~ °  a” is
given by the obvious formula 7 | na, 2"~ L

We first prove some (seemingly arbitrary and random) lemmas to build up
the proof of the above statement. They are done so that the final proof will not
be full of tedious algebra.

Lemma. Let a and b be complex numbers. Then
" —a" —n(b—a)a" ! = (b—a)?(b" 2 +2ab" 3 + 362"+ 4 (n—1)a" ).

Proof. If b = a, we are done. Otherwise,
e — g

b—a
Differentiate both sides with respect to a. Then

_ bn—l +abn—2 +a2bn—3 NN _i_an—l.

—na" (b —a) +b" — a"
(b—a)?

Rearranging gives the result.
Alternatively, we can do

b —a" = (b—a)(d" "+ ab" 2+ F e,
Subtract n(b — a)a™"! to obtain
(b _ a)[bn—l _ an—l + a(bn—Q _ an—2> 4 a2(bn—3 _ an—3) 4. }

=b""2 4 2ab" P 4 4 (n—1)a" 2,

and simplify. O
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This implies that
(z4+h)" = 2" —nhz" P = A2 (2 + h)" 24+ 22(z +R) "B - (n—1)2"72),
which is actually the form we need.

Lemma. Let a,z™ have radius of convergence R, and let |z| < R. Then
> na, 2"~ converges (absolutely).

Proof. Pick r such that |z| < r < R. Then ) |a,|r™ converges, so the terms
|an|r™ are bounded above by, say, C. Now

—1 —1
S nlanen 1| = Salantt () < S5 (1Y
r -or T

n—1
The series Y n (%) converges, by the ratio test. So " n|a,z""!| converges,
by the comparison test. O

Corollary. Under the same conditions,

> n
> (5 )an
n=2

converges absolutely.
Proof. Apply Lemma above again and divide by 2. O

Theorem. Let > a,2" be a power series with radius of convergence R. For
|z| < R, let

f(z) = Zanz” and g(z) = Znanz”_l.
n=0 n=1

Then f is differentiable with derivative g.
Proof. We want f(z+ h) — f(z) — hg(2) to be o(h). We have

f(z+h)— f(z) —hg(z) = Z an((z + h)" — 2™ — hnz").
n=2

We started summing from n = 2 since the n = 0 and n = 1 terms are 0. Using
our first lemma, we are left with

h? i an((z+h)" 2 +22(z+h)" 2+ + (n—1)2""?)

n=2

We want the huge infinite series to be bounded, and then the whole thing is a
bounded thing times h?, which is definitely o(h).

Pick r such that |z| < r < R. If h is small enough that |z 4+ h| < r, then the
last infinite series is bounded above (in modulus) by

(o) oo n
Do lanl (242 e (= 1) = Y |an< )
n=2 n=2 2

which is bounded. So done. O
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In IB Analysis II, we will prove the same result using the idea of uniform
convergence, which gives a much nicer proof.

Example. The derivative of

2 23

z
ef=1+z2 —|— = + -
3!
is
52
Z
1+2+ g + - .
So we have another proof that of this fact.
Similarly, the derivatives of sin z and cos z work out as cos z and — sin z.

6.3 Hyperbolic trigonometric functions

Definition (Hyperbolic sine and cosine). We define

coshz:ﬁflJriJriJriJr
2 4! 6!

sinhz:ﬂ +£+i+i+
2 3! 7!

Either from the definition or from differentiating the power series, we get
that

Proposition.
— cosh z = sinh z
dz
— sinh z = cosh 2
dz

Also, by definition, we have

Proposition.
coshiz = cosz
sinhiz = isinz
Also,
Proposition.

cosh? z — sinh? z = 1,

45



7 The Riemann Integral TA Analysis I

7 The Riemann Integral

Finally, we can get to integrals. There are many ways to define an integral,
which can have some subtle differences. The definition we will use here is the
Riemann integral, which is the simplest definition, but is also the weakest one, in
the sense that many functions are not Riemann integrable but integrable under
other definitions.

Still, the definition of the Riemann integral is not too straightforward, and
requires a lot of preliminary definitions.

7.1 Riemann Integral

Definition (Dissections). Let [a, b] be a closed interval. A dissection of [a, b] is
a sequence a = xg < 1 < Ty < -+ < T, = D.

Definition (Upper and lower sums). Given a dissection D, the upper sum and
lower sum are defined by the formulae

n

Up(f) = Z(l“i — 1) S f()
Lp(f) = Z(xz —xi—1) _inf f(x)

] TE€[Ti—1,2i]
Sometimes we use the shorthand

M;= sup f(z), m;= inf  f(x).

TE[Ti—1,%i] TE€[Ti—1—x;4)

The upper sum is the total area of the red rectangles, while the lower sum is
the total area of the black rectangles:

Y
A
//
> T
a Ty T2 T3 X5 Ti41:- " p

Definition (Refining dissections). If D; and Dy are dissections of [a, b], we say
that D5 refines D; if every point of D is a point of Ds.

Lemma. If Dy refines Dy, then

Up,f <Up,f and Lp,y > Lp, f.
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7 The Riemann Integral TA Analysis I

Using the picture above, this is because if we cut up the dissections into
smaller pieces, the red rectangles can only get chopped into shorter pieces and
the black rectangles can only get chopped into taller pieces.

Y Y
A A
—
— ,//
> > T
To T To T1 T2 T3

Proof. Let D be g < 1 < --- < z,. Let Dy be obtained from D; by the
addition of one point z. If z € (x;-1,;), then

UD2f - Ule = [(Z - 1','_1) sup f(x)]

T€[T;—1,2]

+

(z; —2) sup f(l‘)] — (i — wi-1) M;.

z€[z,x;)

But sup,c(y, , . f(z) and sup,¢(, ,,) f(x) are both at most M;. So this is at
most M;(z —x;—1 +x; — 2z — (x; —2;-1)) = 0. So

Usz < Ule'

By induction, the result is true whenever Dy refines D;.
A very similar argument shows that Lp,s > Lp, f. O

Definition (Least common refinement). If D; and Ds be dissections of [a, ).
Then the least common refinement of D; and D5 is the dissection made out of
the points of D; and Ds.

Corollary. Let D; and Ds be two dissections of [a, b]. Then
Ule > LD2 f

Proof. Let D be the least common refinement (or indeed any common refinement).
Then by lemma above (and by definition),

Up,f>Upf>Lpf>Lp,f. O
Finally, we can define the integral.

Definition (Upper, lower, and Riemann integral). The upper integral is

b
/ f(z) dz = inf Upf.
a D
The lower integral is

b
/ f(z) dx =sup Lpf.
a D
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7 The Riemann Integral TA Analysis I

If these are equal, then we call their common value the Riemann integral of f,

and is denoted fab f(x) dz.
If this exists, we say f is Riemann integrable.

We will later prove the fundamental theorem of calculus, which says that
integration is the reverse of differentiation. But why don’t we simply define
integration as anti-differentiation, and prove that it is the area of the curve?
There are things that we cannot find (a closed form of) the anti-derivative of,
like e=*°. In these cases, we wouldn’t want to say the integral doesn’t exist — it
surely does according to this definition!

There is an immediate necessary condition for Riemann integrability — bound-
edness. If f is unbounded above in [a, b], then for any dissection D, there must
be some i such that f is unbounded on [z;_1,z;]. So M; = co. So Upf = oc.
Similarly, if f is unbounded below, then Lpf = —oco. So unbounded functions
are not Riemann integrable.

Example. Let f(z) = x on [a,b]. Intuitively, we know that the integral is
(b? —a?)/2, and we will show this using the definition above. Let D = zg < 71 <
--- < x, be a dissection. Then

Upf = (wi—zi1)w;
i=1

We know that the integral is # So we put each term of the sum into the

2
g

*33?71
form ——*= plus some error terms.

Definition (Mesh). The mesh of a dissection D is max;(x;+1 — ;).

Then if the mesh is < §, then

(JJ,‘ - l‘i_1) = g(b — CL).

N | =
(-
—
8

8

|

-
S—
[\v]
INA

N
(-

So by making § small enough, we can show that for any ¢ > 0,

b 1
/ zdr < §(b2—a2)—|—e.
Similarly,
b
1
/ x dr > §(b2—a2)—€.

So
b 1
/ rdr = 5(()2 —a?).
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Example. Define f :[0,1] = R by

_J1 zeQ

Let xg < x1 < -+ < 2, be a dissection. Then for every i, we have m; = 0 (since
there is an irrational in every interval), and M; = 1 (since there is a rational in
every interval). So

n

Upf = ZM'L(:E’L —T1) = Z(% —zi—1) = 1.
i=1

i=1

Similarly, Lp f = 0. Since D was arbitrary, we have

/Olf(x) dz =1, /Olf(ac) dz = 0.

So f is not Riemann integrable.

Of course, this function is not interesting at all. The whole point of its
existence is to show undergraduates that there are some functions that are not
integrable!

Note that it is important to say that the function is not Riemann integrable.
There are other notions for integration in which this function is integrable. For
example, this function is Lebesgue-integrable.

Using the definition to show integrability is often cumbersome. Most of
the time, we use the Riemann’s integrability criterion, which follows rather
immediately from the definition, but is much nicer to work with.

Proposition (Riemann’s integrability criterion). This is sometimes known as
Cauchy’s integrability criterion.
Let f : [a,b] — R. Then f is Riemann integrable if and only if for every
€ > 0, there exists a dissection D such that
Up—Lp <e.
Proof. (=) Suppose that f is integrable. Then (by definition of Riemann
integrability), there exist D; and Ds such that

b €
Up, < / f(z) de + 2’
and
b €
Lp, > / f(z) dz — 7
Let D be a common refinement of D; and Dy. Then

Upf—Lpf<Up, f—Lp,f<e.

(«=) Conversely, if there exists D such that

U’Df - LDf <g,
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then
infUpf —supLpf <e,

which is, by definition, that

/abf(x) dx—/abf(:v) dz < e.

Since € > 0 is arbitrary, this gives us that

/abf(a:) dx:/abf(x) dz.

So f is integrable. O

The next big result we want to prove is that integration is linear, ie

b b b
[ 0@+ ng@) de =2 [ fa) dotn [ (o) da.
We do this step by step:

Proposition. Let f : [a,b] — R be integrable, and A > 0. Then Af is integrable,
and

b b
/ Af(z) da = )\/ f(z) da.
Proof. Let D be a dissection of [a,b]. Since

sup  Af(x) =X sup f(x),

r€[wi_1,24) rE[Ti—1,%4]

and similarly for inf, we have

Up(\f) = AUpf
Lp(Af) = ALpf.

So if we choose D such that Upf — Lpf < e/, then Up(Af) — Lp(Af) < e. So
the result follows from Riemann’s integrability criterion. O

Proposition. Let f : [a,b] — R be integrable. Then —f is integrable, and

/ab—f(x)da::—/abf(x)dx.

Proof. Let D be a dissection. Then

swp @) =— il f()
TE[Ti—1,%;] T€[Ti_1,T4]

inf —f(z)=— sup f(x).
TE€[wi—1,7;] TE€[wi—1,7;]

Therefore
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Similarly,
Lp(—f)=-Unf.
So
Up(—f) —Lo(—f)=Upf - Lpf.

Hence if f is integrable, then —f is integrable by the Riemann integrability
criterion. O

Proposition. Let f,g: [a,b] — R be integrable. Then f + g is integrable, and

/ab(f(:c) +g(x)) doz = /ab f(z) dz + /ab g(x) da.

Proof. Let D be a dissection. Then

Up(f+9)=) (wi—wim) sup (f(z)+g())

i=1 r€[Ti—1,T4]
< Z(xz —Ti_1) sup  f(u)+ sup g(v)
i=1 u€[Ti—1,2:] VE[T;—1,T;]
=Upf+Upyg

Therefore,

b b b b b
[ @@y o< [ @ ot [g@ o= [ f@) ot [ o) dn
Similarly,
b b b
[ U@ +swyar> [ 5@ at [Cow an
So the upper and lower integrals are equal, and the result follows. O]

So we now have that

b

/:()\f(m) + pg(z)) dz = )\/ab f(x) dz + ,u/a g(z) da.

We will prove more “obvious” results.

Proposition. Let f,g: [a,b] — R be integrable, and suppose that f(z) < g(x)

for every x. Then
b b
/ f(z) dz S/ g(x) dz.

Proof. Follows immediately from the definition. O
Proposition. Let f : [a,b] — R be integrable. Then |f| is integrable.

Proof. Note that we can write

sup  f(z)— _inf f(z)= sup [f(u) = f(v)l.

r€[Ti_1,24) r€[wi—1,m4] w,vE[T;—1,;]
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Similarly,
sup  |f(z)| = inf |f(z)[=  sup  [|f(u)] = [f(0)]-
z€[Ti_1,T4] r€[wi—1,m4] UVE[Ti—1,%4]
For any pair of real numbers, z,y, we have that ||z| — |y|| < |z — y| by the

triangle inequality. Then for any interval u,v € [x;_1,x;], we have

)] = 1F )] < [f (w) = Fv)].

Hence we have

sup  [f(z)|— inf |f(z)] < sup flz)— inf f(z)

z€lzi_1,zi] T€[Ti—1,7] z€[zi_1,2i] z€[zi_1,xi]
So for any dissection D, we have
Up(|f]) = Lo(|f]) < Up(f) = Lo(f).
So the result follows from Riemann’s integrability criterion. O
Combining these two propositions, we get that if
|f(z) —g(x)] < C,

for every x € [a,b], then

/abf(x) dac—/abg(x) dz

Proposition (Additivity property). Let f : [a,c¢] — R be integrable, and let
b € (a,c). Then the restrictions of f to [a,b] and [b, ¢|] are Riemann integrable,

and
/abf(m)dx+/bcf(x)d:c:/acf(a:)dx

Similarly, if f is integrable on [a,b] and [b, ¢, then it is integrable on [a, c] and
the above equation also holds.

< C(b—a).

Proof. Let € > 0, and let a = 29 < z1 < --- < T, = ¢ be a dissection of D of
[a, ] such that

Un(f) < / ) do e,
and

Io()> [ f)ds—e.

Let D’ be the dissection made of D plus the point b. Let D; be the dissection of
[a, b] made of points of D’ from a to b, and D be the dissection of [b, ¢] made of
points of D’ from b to ¢. Then

Up, (f) +Up,(f) = Up/(f) < Up(f),

and
Lp,(f) + Lp,(f) = Lp/(f) = Lp(f).
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Since Up(f) — Lp(f) < 2¢, and both Up,(f) — Lp,(f) and Up, (f) — Lp, (f)
are non-negative, we have Up, (f) — Lp, (f) and Up,(f) — Lp,(f) are less than
2¢. Since ¢ is arbitrary, it follows that the restrictions of f to [a,b] and [b, ¢] are
both Riemann integrable. Furthermore,

b c c
/ f(x) da+ / f(x) dz < Up, (£)+Up, (f) = Upr(f) < Up(f) < / f(z) da-+e.

Similarly,

b c c
/ f(x) dx+/b f(x)dz > Lp, (f)+Lp,(f) = Lo/ (f) > Lp(f) > / f(x) dz—e.

Since ¢ is arbitrary, it follows that

/abf(as) dx—i—/bcf(x) dx:/acf(as) dz.

The other direction is left as an (easy) exercise. O
Proposition. Let f,g: [a,b] — R be integrable. Then fg is integrable.

Proof. Let C be such that |f(z)],|g(z)| < C for every x € [a,b]. Write L; and
¢; for the sup and inf of ¢ in [x;_1,z;]. Now let D be a dissection, and for each
i, let u; and v; be two points in [x;_1, z;].

We will pretend that u; and v; are the maximum and minimum when we
write the proof, but we cannot assert that they are, since fg need not have
maxima and minima. We will then note that since our results hold for arbitrary
u; and v;, it must hold when fg is at its supremum and infimum.

We find what we pretend is the difference between the upper and lower sum:

i

Il
-

(zi — 2i—1) (f(vi)g(vs) — f(Uz)g(Ul))|

K2

@
Il
_

i

(zi — 1) (f (vi) (9(vi) — g(us)) + (f (v — f(ui))g(ui)))’

M=

C UDQ — Lpg + Upf — LDf)

N
Il
-

Since u; and v; are arbitrary, it follows that

Up(fg) — Lp(fg) < C(Upf — Lpf+Upg — Lpg).

Since C' is fixed, and we can get Upf — Lpf and Upg — Lpg arbitrary small
(since f and g are integrable), we can get Up(fg) — Lp(fg) arbitrarily small. So
the result follows. O

Theorem. Every continuous function f on a closed bounded interval [a, b] is
Riemann integrable.
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Proof. wlog assume [a,b] = [0, 1].

Suppose the contrary. Let f be non-integrable. This means that there exists
some ¢ such that for every dissection D, Up — Lp > €. In particular, for every
n, let D,, be the dissection 0, %, %, e

Since Up, — Lp, > ¢, there exists some interval in which sup f —
inf f > €. Suppose the supremum and infimum are attained at x, and y,
respectively. Then we have |z, — y,| < L and f(z,) — f(yn) > €.

By Bolzano Weierstrass, (z,,) has a convergent subsequence, say (x,,). Say
Xp, — . Since |z, — yn| < % — 0, we must have y,,, — z. By continuity, we
must have f(x,,) = f(z) and f(yn,) = f(z), but f(x,,) and f(yn,) are always
apart by €. Contradiction. O

5, k]

w2

With this result, we know that a lot of things are integrable, e.g. e~
To prove this, we secretly used the property of uniform continuity:

Definition (Uniform continuity*). Let A C R and let f : A — R. Then f is
uniformly continuous if

(Ve)(30 > 0)(Vz)(Vy) |z —yl <0 = [f(z) = fly)| <e.

This is different from regular continuity. Regular continuity says that at any
point x, we can find a § that works for this point. Uniform continuity says that
we can find a ¢ that works for any x.

It is easy to show that a uniformly continuous function is integrable, since by
uniformly continuity, as long as the mesh of a dissection is sufficiently small, the
difference between the upper sum and the lower sum can be arbitrarily small by
uniform continuity. Thus to prove the above theorem, we just have to show that
continuous functions on a closed bounded interval are uniformly continuous.

Theorem (non-examinable). Let a < b and let f : [a,b] — R be continuous.
Then f is uniformly continuous.

Proof. Suppose that f is not uniformly continuous. Then
(3) (V6 > 0)(3=)(Fy) |z — y| < b and [f(z) — f(y)| > €.

Therefore, we can find sequences (x,,), (y,) such that for every n, we have

o = gl < - and 7o) = Fl)] >

Then by Bolzano-Weierstrass theorem, we can find a subsequence (z,, ) converg-
ing to some z. Since |Ty, —Yn,| < n%u Yn, — « as well. But | f(xn,)— f(yn, )| > €
for every k. So f(zn,) and f(yn,) cannot both converge to the same limit. So f
is not continuous at x. O

This proof is very similar to the proof that continuous functions are integrable.
In fact, the proof that continuous functions are integrable is just a fuse of this
proof and the (simple) proof that uniformly continuously functions are integrable.
Theorem. Let f : [a,b] — R be monotone. Then f is Riemann integrable.

Note that monotone functions need not be “nice”. It can even have in-
finitely many discontinuities. For example, if f : [0,1] — R maps z to the
1/(first non-zero digit in the binary expansion of z), with f(0) = 0.
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Proof. let € > 0. Let D be a dissection of mesh less than Then

Upf—Lpf=> (zi—zi1)(f(i) = f(wi-1))
=1
9
= 70— fla) &

=e.
O

Pictorially, we see that the difference between the upper and lower sums is
total the area of the red rectangles.

Yy
A
I
> T

To calculate the total area, we can stack the red areas together to get something
of width sm5=575 and height f(b) — f(a). So the total area is just .

Lemma. Let a < b and let f be a bounded function from [a,b] — R that is
continuous on (a,b). Then f is integrable.

An example where this would apply is fol sin % It gets nasty near x = 0, but
its “nastiness” is confined to x = 0 only. So as long as its nastiness is sufficiently
contained, it would still be integrable.

The idea of the proof is to integrate from a point x; very near a up to a
point x,,_1 very close to b. Since f is bounded, the regions [a, 1] and [z, 1, ]
are small enough to not cause trouble.

Proof. Let € > 0. Suppose that |f(z)] < C for every x € [a,b]. Let 9 = a and
pick x; such that 71 —x9 < g5. Also choose z between z; and b such that
b—2< g5

Then f is continuous [z1, z]. Therefore it is integrable on [z1, z]. So we can
find a dissection D’ with points z1 < x3 < -+ < T,_1 = z such that

€
Upf—Lpf<gs.
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Let D be the dissection a = 2o < 1 < -+ < x, = b. Then

9 3 9
UDf—LDf<%'2C+§+@'QC—E.

So done by Riemann integrability criterion. O

Example.

- flx)= {?)m . 7 0 defined on [—1,1] is integrable.
Tr =

<1
— g(x) = {22 1 z ; ) defined on [0, 1] is integrable.

Corollary. Every piecewise continuous and bounded function on [a, b] is inte-
grable.

Proof. Partition [a, ] into intervals I, - - - , I, on each of which f is (bounded
and) continuous. Hence for every I; with end points ;_1, x;, f is integrable on
[;_1,2;] (which may not equal I}, e.g. I; could be [x;_1,2;)). But then by the
additivity property of integration, we get that f is integrable on [a, b] O

We defined Riemann integration in a very general way — we allowed arbitrary
dissections, and took the extrema over all possible dissection. Is it possible to
just consider some particular nice dissections instead? Perhaps unsurprisingly,
yes! It’s just that we opt to define it the general way so that we can easily talk
about things like least common refinements.

Lemma. Let f : [a,b] — R be Riemann integrable, and for each n, let D,, be
(b=a)

the dissection a = 29 < 1 < -+ < x, = b, where x; = a + : - for each 7.
Then .
Up, f —>/ f(z) dz
and
b
Lp, f— / f(z) da.

Proof. Let € > 0. We need to find an N. The only thing we know is that f is
Riemann integrable, so we use it:

Since f is integrable, there is a dissection D, say ug < uy < --- < Uy, such
that

b
UDf—/ f(x)dz < %

We also know that f is bounded. Let C' be such that |f(x)| < C.
For any n, let D’ be the least common refinement of D,, and D. Then

Up f<Upf.

Also, the sums Up, f and Up/ f are the same, except that at most m of the
subintervals [x;_1, ;] are subdivided in D'.
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For each interval that gets chopped up, the upper sum decreases by at most
b_T“ - 2C'. Therefore

h—

Up,f—Up [ < -

Pick n such that 2Cm(b —a)/n < 5. Then

a2C’ -m.

€
Upnf — Upf < 5

So .
Uan—/ f(z)dz <e.

This is true whenever n > w. Since we also have Up, f > f{f f(z) dz,
therefore

b
Up,f— / f(x) da.
The proof for lower sums is similar. O

For convenience, we define the following:

Notation. If b > a, we define

/baf(a:) dz = —/abf(a:) dz.

We now prove that the fundamental theorem of calculus, which says that
integration is the reverse of differentiation.

Theorem (Fundamental theorem of calculus, part 1). Let f : [a,b] — R be
continuous, and for z € [a, b], define

F(z) = / ) at.

Then F is differentiable and F'(z) = f(z) for every x.
Proof.

h T h
Let € > 0. Since f is continuous, at x, then there exists ¢ such that |y — x| < §
implies |f(y) — f(z)| < e.
If |h| < 6, then

F(x+h)—F(z) 1 /“h £0) dt

1

x+h
P e s = |

x+h
[ - ) a

1
S R
7]
elh]
~ nl

= E&.

x+h
/ F(0) — f()] de
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Corollary. If f is continuously differentiable on [a, b], then

b
/ (1) dt = £(b) — f(a).

Proof. Let .
olo) = [ 1)
Then
g'(@) = f'(z) = - (f(z) = f(a)).

Since ¢'(x) — f'(z) = 0, g(x) — f(z) must be a constant function by the mean
value theorem. We also know that

g(a) =0 = f(a) — f(a)
So we must have g(x) = f(z) — f(a) for every z, and in particular, for x = b. O

Theorem (Fundamental theorem of calculus, part 2). Let f : [a,b] — R be a
differentiable function, and suppose that f’ is integrable. Then

/ (1) dt = £(b) — f(a).

Note that this is a stronger result than the corollary above, since it does not
require that f’ is continuous.

Proof. Let D be a dissection x¢g < z1 < --- < z,. We want to make use of this
dissection. So write

n

FO) = fla) =Y (f(xi) = f(2i1)).

i=1

For each i, there exists u; € (x;_1,2;) such that f(z;) — f(zi—1;) = (x5 —
2;—1)f'(u;) by the mean value theorem. So

We know that f’(u;) is somewhere between  sup  f/(z) and [inf ]f’(:c)
IE[IML’FH TE|Tq,Ti—1

by definition. Therefore

Lpf" < f(b) — f(a) <Upf".
Since f” is integrable and D was arbitrary, Lp f' and Up f’ can both get arbitrarily
close to fab f/(t) dt. So

b
1)~ s@ = [ £ a
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Note that the condition that f’ is integrable is essential. It is possible to find
a differentiable function whose derivative is not integrable! You will be asked to
find it in the example sheet.

Using the fundamental theorem of calculus, we can easily prove integration
by parts:

Theorem (Integration by parts). Let f,g : [a,b] — R be integrable such that
everything below exists. Then

b b
/ f(@)g'(x) dw = f(b)g(b) - f(a)g(a) */ f'(@)g(x) da.

Proof. By the fundamental theorem of calculus,

/ (f(@)g () + f'(2)g(x)) dw = / (f9)'(x) dz = f(b)g(b) — f(a)g(a)-

The result follows after rearrangement. O

Recall that when we first had Taylor’s theorem, we said it had the Lagrange
form of the remainder. There are many other forms of the remainder term. Here
we will look at the integral form:

Theorem (Taylor’s theorem with the integral form of the remainder). Let f be
n + 1 times differentiable on [a, b] with with f(**1) continuous. Then

F0) = Fa)+ (b a)f'(a) + E= Y

O o) 4 [T s ar

n! n!

Proof. Induction on n.
When n = 0, the theorem says

b
£(b) — f(a) = / £(t) dt.

which is true by the fundamental theorem of calculus.
Now observe that

/b (b —|t)" f("'H)(t) &= [—(b s f(n+1)(t)]

b

n (n+1)! "
b
b—t)"t!
+/ ((n +)1)! FrHD () dt
_b=a)" iy P =" e
e A A e A A
So the result follows by induction. O

Note that the form of the integral remainder is rather weird and unexpected.
How could we have come up with it? We might start with the fundamental
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theorem of algebra and integrate by parts. The first attempt would be to
integrate 1 to ¢ and differentiate f’(t) to () (t). So we have

b
f@:ﬂ®+/f@&
¢ b
:ﬂ@+wwmf/ﬁ®®w

b
— 1@+ (0 - af (@)~ [ 7O e

We want something in the form (b — a)f’(a), so we take that out and see what
we are left with.

b

:ﬂw+w—wfw+Mf@—fw»—/tﬂ%ww

a

Then we note that f/(b) — f'(a) = fj f@(t) dt. So we have

b
:ﬂ@+wfwfw»ﬁ/wfwﬂww&.

Then we can see that the right thing to integrate is (b—¢) and continue to obtain
the result.

Theorem (Integration by substitution). Let f : [a,b] — R be continuous. Let
g : [u,v] = R be continuously differentiable, and suppose that g(u) = a, g(v) = b,
and f is defined everywhere on g([u,v]) (and still continuous). Then

b v
[ @ o= [ rtato)ge a

Proof. By the fundamental theorem of calculus, f has an anti-derivative F
defined on g([u,v]). Then

/vﬂﬂﬂw%ﬂdﬁ=/wF%Mﬂm%ﬂdt
= [(Fepa

O

We can think of “integration by parts” as what you get by integrating the
product rule, and “integration by substitution” as what you get by integrating
the chain rule.
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7.2 Improper integrals

It is sometimes sensible to talk about integrals of unbounded functions or

integrating to infinity. But we have to be careful and write things down nicely.

Definition (Improper integral). Suppose that we have a function f : [a,b] — R

such that, for every ¢ > 0, f is integrable on [a + ¢,b] and lir% ff+s f(z) da
E—r

exists. Then we define the improper integral

b b
/ f(z) dz to be lim f(z) dz.
a e—0 ate

even if the Riemann integral does not exist.
We can do similarly for [a,b — €], or integral to infinity:

oo b
/ f(z) dz = blggo f(z) dz.

when it exists.

Example.
1 1
/ V2 dg = [2{1/2} =222 9

= €

1
/ V2 dr = 2,
0

even though z is unbounded on [0, 1].
Note that officially we are required to make f(z) = 2~/ a function with
domain [0, 1]. So we can assign f(0) =, or any number, since it doesn’t matter.

So

~1/2
1

Example.

1 17" 1
—thz ——| =1—-——=lasz—
1t t], x

by the fundamental theorem of calculus. So

<1
1

Finally, we can prove the integral test, whose proof we omitted when we first
began.

Theorem (Integral test). Let f : [1,00] — R be a decreasing non-negative
function. Then Y77 f(n) converges iff [ f(z) dz < oc.

Proof. We have
n+1 n
| iwarzims [ re

3

since f is decreasing (the right hand inequality is valid only for n > 2). It follows
that

N+1 N N
[ i@ae< Y s < [ s s p)
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So if the integral exists, then Y f(n) is increasing and bounded above by
J;° f(z) dz, so converges.

If the integral does not exist, then le f(z) dz is unbounded. Then 25:1 f(n)
is unbounded, hence does not converge. O

Example. Since [, % dt < oo, it follows that > ,” | % converges.

n=1 n?
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